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Which of the following schools of philosophy regards education as a means for social
growth and economic production ?

(1) Idealism (2) Realism
(3) Naturalism (4) Marxism

fr=faRag # a9-01 fiar arT Ren o1 amaie e ik anfefe Rers o arm amdh
g7

(1) seeiEE (2) uerefare

(3) wepferare (4) woRiaTe
Madhyama Pratipada is a cardinal principle of :

(1) Jainism (2) Buddhism
(3) Vedanta Philosophy (4) Sankhya
e gfauer feaat te gen g @ ?

(1) o9 Te (2) drg T3
(3) agTa g3 : (4) =g ge=

Life skill education is needed to :

(1) Adopt to one's own culture

(2) Enhance vocational efficiency

(3) Promote cultural integration

(4) Face the challenges in life effectively

e BIeTet &) raegdar feas oy 8 ?

(1) TN HHT & AR

(2) TgaRE BT & gerHl

(3) WRpfde Yahdl BT dgTdl Q1

(4) SEd & AT &1 JHgenell w9 # AR BRAT

In the framework of Sankhya stipulation, which of the following will not be considered
acceptable ? :

(1) Prakriti is trigunatmak (2) Prakriti is subtle "
(3) Prakriti is directly visible (4) Prakriti is by nature evolutionary
e < & aRve § & fod Werd 78 71 S daan ?

(1) ypfr frmes & (2) wpfcr e &

(3) PRI Uue w9 | T 7 (4) sl w@rg & Rerres 8
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5. Which Indian school of thought considers all knowledge as relative ?

(1) Buddhism (2) Vedant (3) Jainism (4) Islam
frafoRad # A SF-A IRAT G B AR gRT TR A9 BT AT 7§
(1) d9g (2) aid (3) S (4) %A

6. Critically judge the following :
Assertion (A) : Marx advocated the creation of a classless society.
Reason (R) : There are too many classes which are struggling with each other.
(1) Both (A) and (R) are false (2) Both (A} and (R) are true
(3) Only (A) is true (4) Only (R)is true
fy=fofad R el &7 STaTEAHS Hedidd DI
afEe (A) : A1 &1 U RIS THST @Y XA B DI ddTerd D |
FROT (R) : T8 & o & o onus F wed aed ved ¥
(1) ©F1(A) T (R) AT @ (2) <Fl (A) @ (R) 9 &
(3) Bad (A) 9 @ (4) Pt (R) 9T &

7. Which statement/s is/are true as per Buddhist philosophy ?
I.  Maya is root cause of all troubles.
II. Sorrow is the root cause of all troubles.
I1I. Birth and death are causes of troubles.
IV. Getting involved in worldly pursuits is the cause of all troubles.
. (1) AllLIIL I and IV are true
(2) OnlyIand Il are true
(3) Only Il and III are true
(4) Only I, Il and IV are true
g8 <X & ATAR BIF-AT HAT Fel & 7
L o wamsil @ STe 9R0 ©
1. ) aremsit & 57 §@ ©
1. o 3R g FHaa & PRI &
V. 9 Gawel &1 eRUT GRaRe ver A fore v @
(1) & I 10 @ IV 6T @
(2) daar [ g 11 9 €
(3) @aer 11 qor Il 9T &
(4) @act II, 111 1 IV 9 &
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8. Match the following :
List - I
(Thinker)
[.  Gandhi
II. Tagore
III. Aurbindo
[V. Vivekananda

Code:
I 1 m v
Mm 5 1 2 4
@ 5 1 4 2
@) 3 4 2 5
4 4 2 3 5
fer=feiRaa @1 e @
qAl- 1
(ERED)
I e
. TR
1. 3Rfe=
V. fdam=
_cl'ﬁT‘i’:
I I oI
Mm 5 1 2 4
@ 5 1 4 2
B 3 4 2 5
4 4 2 3 5

o

Qv = W

gr o= L N

List - II

(Type of Education)
Shantiniketan

Integral Yoga

Gurukul

Man making education

Wardha Scheme

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(A)

| .0 SR 0




9. The aim of basic education, as per the dream of Gandhiji is to :
I Create a classless society
II. Create a Sarvodaya Society
III. Create a society respecting all religions
IV. Create a society where a rich and poor can live together
(1) AIlLII, IIT and IV are correct
(2) Statements I, IT and IIT are correct
(3) Statements II, Il and 1V are correct
(4) Statements I, IT and IV are correct

el S @ U B gaR IR Renm @1 et @

. U FEH et &1 et

II. U& |area \ATST & HAfor

. & &9] &7 & B alel AT BT fHHior

IV. U& O At & st o8t apfiv eik e qrewmer 38 96
(1) & = 110, 1T corm [V & &

(2) dad w11 Tor 111 98 &

(3) ®aa wuF I 111 @ IV 9 &

(4) @aa s 1,11 91 IV 98! &

10. ‘Individual Differences' are given the least importance in :

(1) Idealism (2) Realism (3) Naturalism (4) Pragmatism
ferer faereare & afadra W<t &1 ®1% wew & far srar ?
(1) amegiarg (2) geurelarg (3) uwpfdarg (4) FIEIRGTATG
11. The Study of Philosophy should be considered important for the prdspt:ctive teachers
because :

(1) Philosophy gives broader perspective of educational issues and concepts.
(2) Philosophy helps in making a wise person.

(3) Philosophy brings clarity in educational concepts.

(

4) Philosophy provides framework for viewing educational problems in true
perspective.

SR ARA T FeFIT A JAIR & g Aewayqel a9 oirem & iy

(1) <S¢ R WA Fel ok srguronel @ IR # favga aRvey yem @var 2 |
(2) 99 IRA e fAdeeiel A 99 § Aag BRar ® |

(3) = e dferd rquremal ¥ wuwear e 2|

(4) <9 T i st a1 wE aRuew ¥ S @1 afer Sueer eRaT 2 |
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12. InJain Epistemology which one is the basis of true knowledge ?

(1) Inductive reasoning (2) Deductive reasoning
(3) Dialectic reasoning (4) Naya based reasoning
SIF HRT A A | BT U SR @ § P

(1) FTHAATHS Tb - (2) MHaETE da

(3) TdaTHP Tb (4) g slRa g

13. The great sociologist who held the view that "education doesn't bring about social
change; rather the social change results into an educational change"” was :

(1) McDougal (2) Aristotle
(3) Durkheim (4) Dewey

IE ARG DI 8 Wl 4Ed 8 @ Rien wmifve wRada 98 @l ofig wmfne
aRecd dfere gad= § gRfor gar 87 2

(1) Aaged (2) 3w
(3) g@™ 4) R¥fa
14. Which of the following is not a factor for social change in India ?
(1) Caste (2) Regionalism
(3) Language (4) Census
=1 4 9 @I dRES ara § Wi uReds &1 eRe T8 & ?
(1) iy - (2) &
(3) wmT (4) STRTOTAT

15. Equality of Educational opportunities is possible in India by :
(1) Extending portals of (-)dLlC&tiOﬂEll institutions to all without any discrimination
(2) Opening more educational institutions
(3) Privatizing the education system in the country
(4) Public funding of Education
IRA F e A wHrar o e ® 2
(1) far fxft Srewma & e Gvemst & gar w0 & forg @rem
(2) 3R sifde Afdres et @i
(3) < ¥ e yorelt @1 fFrsfiexer e
(4) fRrem &1 Arefaciiexor
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16. Role conflict and issues of collaboration are most relevant to which of the following
disciplines ?
(1) Cultural Anthropology
(2) Educational Sociology
(3) Politics and Education
(4) Value based Education
ST ga= # IR G & gr =foiad d @ f6a R & forg waifds g & 2
(1) wrpfae gfaem
(2) e FHGTARA
(3) TSI SfR fRrem
(4) qeu smnRa fRen

17. What is the view of Educational Sociologists on Character Education ?

(1) Character Education is the exclusive province of the home and religious
organizations.

(2) Character Education is impossible without religious and denominational
doctrine. ‘

(3) Character Education is best handled by giving the target readymade judgments.

(4) Character Education should involve the direct discussion of moral issues.

3raRvT e # Aférd AR HT @ wa g 7

(1) SmeRoT IR A 'R &R a1fie s+l &1 &85 8 |

(2) R R @) aifife vd wvafie g @ O Rar S erdva 2 |

(3) 3maRvr ey @ Jaad @ o Fues @ fay afta afeadl &1 @ =R ol Ry o=
afey | |

(4) 3mrervr R # Afde Tl w y@d @9l e Aty |

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(A)




A 7

18. '"Investment in Education is the single, largest item of expenditure, next to defense, in

many countries today" What is the social justification ?

[.  Education has become a pressing need under globalization.

II. Education is the Panacea for social ills.

IIT. Education produces unselfish and competent leaders for establishing polity.
IV. Education helps to procure security, prosperity and social well-being for all.

Choose the correct answer from the given codes:

Codes:

(1) Iand III are correct (2) II and IV are correct

(3) Iand Il are correct (4) III and IV are correct

T3 <l A T a3 B 95 Rem & § 9w @ e 991 q48 § s9eT Amiivie i @
g 7

[ dedfiaxr & el Rien @ aifderawas 77 81 718 2 |

1. e amfSe qRsal & 5 &xF @ fog IFET © |

M. e Irords & forg aRanedl vd wel Jar g9l &

Iv. Rrenm o0 o. fag grenm W9fg ok amifie #a &1 e § Wesd el 2 |
PIS A WE ST BT I BT ¢

BS :
(1) I gor 111 &&r € (2) 11 g IV W& &
(3) I qor II W& & (4) III @orr IV Se &

19. Education as fundamental duty of parents and guardians was inserted in Article 51 A
of the Indian constitution by :

(1) 44th Amendment (8) 86th Amendment
(3) 74th Amendment (4) 42nd Amendment

IR & A @ gess 51 A A R &1 aar-idr R sifeet & Jifve ada & w5
# o doeE & <aw afwfea fear mar ?

(1) 44df Hene= _ (8) 86df M=
(3) 744t G (4) 42df F9er
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20. Religion is an institution because :

(1) It teaches religion to people.

(2) Ttdischarges an important social function.

(3) Itimparts moral and spiritual education to people.
(4) It gives respect to the individual in society.

TH TP TR ¥ ifp

(1) =& &rtt &7 o RRarar

(2) I8 Ud #Equl AHINE B wedr 2|

(3) ¥E <l BT ARy 3 nfifes Rem wam awar 2| 1
(4) TE |aT § A o FHE yoE v ¥

21. Cultureis not:

(1) Constant flux ' (2) Cumulative
(3) Primarily Materialistic (4) Uneven in development
<Py PrefeiRed ¥ & qar 78 2 2
(1) FR®R yarg (2) erh
(3) grafs w5 JF Hifdwarard (4) fawra # srgar

22.  Which of the following mobility is not related to modernization ?
(1) Psychic mobility - (2) Scientific mobility
(3) Social mobility (4) Physical mobility
T A S0 Tfefieran snyfiadiavor @ R 58 & 2
(1) =Ry wferefrerar (2) dsnfie afdsierdr
(3) wmfSte wfreferan (4) ~ifas Tfear

23. Which doesn't belong to the group of the other three ?
(1) Operant Conditioning Theory of Learning
(2) Classical Conditioning Theory of Pavlov
(3) Learning Theory of Watson
(4) Guthrie's Theory of Learning
Fr=feriea & 1 wia-ar o7a &9 & wg @7 9 2 2
(1) M &1 framga smaer Rigrd
(2) UTISTd BT FAADBIT Ijehel g
(3) drewd &1 i Rigra
(4) il @1 Iy Rygra
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25.

26.

9

If Hari is taller than Krishan and Krishan is taller than Gaurav, Hari is the tallest. This
statement comes under which type of reasoning ?

(1) Inductive Reasoning (2) Deductive Reasoning

(3) Linear Reasoning (4) Conditioned Reasoning

A R F9T A Far & R T ARG § a1 § q7 &R a9 o & I8 s fw yeR 9
THON o I M B

(1) TS qaor (2) ATTHATHS THOT
(3) Rg& TP (4) arymfera q@oT

Critically judge the following :

Assertion (X) : Pleasure or displeasure resulting from a learning experience decides
the degree of its effectiveness.

Reason (R) : All pleasant experiences have a lasting influence and are remembered
for a long-time while the unpleasant ones are soon forgotten.

(1) Both (X) and (R) are correct and (R) is the correct explanation for (X)

(2) Only (R) is correct.

(3) Both (X) and (R) are incorrect.

(4) Both (X) and (R) are correct and (R) is not the correct explanation for (X).
f=forRae @ e @fdrg

FFHIT (X) @ M & ogwg | R uar N swwar saa waegf S a7
CAGIRS .

PR (R) : 9! U Ig9al o1 oRwE gTa 81T 8 @R o Ry e TRl T ST @
Sidfeh 3RIGE WAl BT R & el f3ar Sirer 2 |

(1) (X) T2 (R) &Ff |81 & 3iR (R) (X) &) T = 2 |

(2) ®ael (R) FE B |

(3) (X) 3R (R) T 7Teiet & |

(4) (X) @ar (R) aF1 981 & o (R) (X) @) &) urar 78 2 |

The Rorschach Inkblot-Test consists of :

(1) Five black and five coloured cards.

(2) Ten black and ten white cards.

(3) Five black & white and five multicoloured cards.
(4) Ten multicoloured cards.

YT gdHeAe URIeTT (E¥e) # aar el & 2

(1) dia BTel g ura GiE $rs |

(2) TH BT TAT H ADS Pl |

(3) Ui@ Bre-wwhe der dfa agfay ¥ &1e |

(4) =9 9gfay WA @16

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(A) P.T.O.
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27. In the conditioning approach to learning :

(1) The subject should be in readiness to receive the unnatural stimulus.
(2) The unnatural stimulus follows the natural stimulus.

(3) Response to natural stimulus required to be reinforced.

(4) The natural stimulus follows the unnatural stimulus.

3ifeTH @ Srarerd SUTTa #

(1) wfdw faeiy srarnfas S+ ura o & fog g 891 =Ry |

(2) STEATIIAD ST AIAF ST BT FTHA BT 2 |

(3) <@ SEU B ufifbar B qrdfn ev @ anavaedr § |

(4) ¥Ifds FEYH SRAMIAS SETT BT AFHA BT & |

28. Kohlar developed :

(1) S-R bond theory (2) Insight theory
(3) Field theory (4) Conditioning theory
drger o1 fawfaa faar
(1) SR afe Rigra (2) g™Ise Rigra
(3) wies Rygr (4) @S Rigr

29. In Pavlov's experiments on the salivary conditioning of dogs, the CS was :
(1) The taste of food (2) Salivation to the taste of food
(3) The sound of a bell (4) Salivation to the sound of bell
YIaeiid & AT H g B o) 7Rt 4 et g § sramfie Stu @ar € ?
(1) IS BT w@re (2) 9IS @ W@IE B Uit AR g8
(3) G P ITATST (4) gve) @) ImETSt & Uiy IR 98T

30. Bruner identified three major stages of cognitive growth. Identify the correct order of
the stages.

(I) Symbolic, Iconic, Enactive

(2) Iconic, Symbolic, Enactive

(3) Enactive, Iconic, Symbolic

(4) Symbolic, Enactive, Iconic

TR A e e & @ Aewagel geel @ gewm @ Arefafed ¥ Q39 geE @
Al A BT TIT DI |

(1) wliorere, smudiarers, Hfdea Rl garT war s & el & yae we)

(2) IFIABIHAD, GHBIHD, THfded

(3) UAfded, srguiiaTeis, Tdiaicis

(4) udirers, vAfded, sydiares,
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31. Spranger's typology is based on man's :

(1) Interests (2) Body structure
(3) Behaviour - (4) Attitude

WSR B YR fag afdd & &9 gar ) emenRa & ?

(1) =y (2) IRR GG

(3) SaER (4) gftemmr

32. Which one of the following conditions qualifies to be an instance of negative
reinforcement ?

(1) Giving a punishment (2) Withholding a reward

(3) Withdrawing a painful stimulus (4) Excessive rewarding

fr=ferRad & 91 SI9-3 g1 THRIHS Jder BT SETET & 2

(1) TU8 <A (2) REHR DI AdH A1

(3) TEAH FEIUT BT T BT (4) Irafdrd RGN <
33. Law of exercise enables students to :

(1) Diligence (2) Intelligence (3) Insight (4) Problem solving

I qaRT BET # [Jafia 8l § ¢

(1) uRRsm @t smea (2) & (3) arwigfe (4) AHET FHE &0
34. Ivan Illich is known for :

(1) Life Long Learning (2) Life Skill Education

(3) De Schooling Society (4) Distance Education

$a+ sfora fegs o g € ?

(1) erreias fferTd (2) Sias drerer e

(3) SI-xafeiRT Arargdl (4) SRl e

35. Major contribution of Psychology to education lies in :
(1) Defining the goals for which teacher should strive.
(2) Identifying potentially successful methods and procedures for teaching.
(3) Providing scientific foundation for the art of teaching.
(4) Comparing the relative effectiveness of various teaching procedures.
e AgeEcl @1 g anrer o @ ?
(1) 891 el &1 uRfda seer e wiky & fay spams & ygr A1 a1y |
(2) IFAYF B [ B9 H Gh (AT U uihameil & ggar @Rl |
(3) AU Fer & forw dsNfE SR UgT BT |
(4) fafey e ufdsarelt o1 wmfde wHaeierar @ e &< |
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36. Latent learning is a concept enunciated by :

(1) Hull (2) Piaget

(3) Tolman (4) Skinner
e AT ) AT w1 URigTaE B 2

(1) & 2)

(3) et (4) Rew

37. A student of class XII aspires to get ‘A’ in his schoo! final examination. Which of the
following will best explain his/her motivation ?
(1) Need for affiliation (2) Need for self esteem
(3) Need for actualization (4) Need for achievement

IREAT DET D) UH BT AU Wt B il GheT ¥ A’ U @) s § Prefefeg §
W BIF-AT IED AU Y R ?

(1) T=GdT & Magdhal (2) IMHTHT B FTIITDHAT
(3) Rifyg & srgvaEdar (4) Suafer @t saegedr

38. Defence mechanisms are used by the :
(1) Ego of a person knowingly (2) Superego of a person knowingly
(3) Id of a person unknowingly (4) Ego of a person unknowingly
<& gfdarat &1 Sudn fFrafalea § & feas gart fear wmar & 2
(1) =afdd & 319 ORI 9a9 wU § (2) @fdd & UrEw gaRT g+ Wy i
(3) <afdd & 3§ gaRT Aa+ &y H (4) @fdd & oreq gaRT g wy

39. A student who fails in an examination makes a complaint that the examiner was

strict. He/she is using a defence mechanism of :
(1) Sublimation (2) Regression
(3) Rationalization (4) Reaction formation

qzﬁf‘h?mﬁuﬁwﬁmwaﬁwfémuﬁwm%%qﬁmweﬁwmaWW
BT &7 AT BT TATT HR VBT & ?

(1) IEIATBROT (2) gferma=
(3) oitfaer mus ‘ (4) wfafsar et
M.Phil./Ph.D./URS-EE—Nov.-2018/(Educati0n)(SET-Z)z’(A)




40. A student suffering from depression and sadness can be classified as :

(1) Sanguine type (2) Phlegmatic
(3) Choleric (4) Melancholic
HIHRIS AT U4 Ifa¥TE W UG B @I fha darl § @l S qedr 8 7
(1) 3mermardy : (2) HraR
(3) BN (4) g
41. 'Mirambaka'- The school based on ideas of free progress education was advocated
by :
(1) M.K. Gandhi (2) Aurobindo
(3) Vivekanand (4) John Dewey
AR Td &1 oUR & was e &1 (e a8 fhae fararr o smalRa 8 2
(1) #&TE Tfed (2) Rfa=T
(3) fad@mr=< 4) <t f$fe
42. Who coined the term Cultural capital ?
(1) Bowel and Gintis (2) Bourdieu and passeron
(3) Young (4) McRobbie and Aryon
Hoavd DU Ug e dlel oI & 7 _
(1) dfge den g (2) 9rgY TAT UTER]
(3) =T (4) HHIIE AT WA

43. According to Guilford's SI model total number of factors that constitute the human

intellect is :

(1) 60 . (2) 90

(3) 120 (4) 150

fIepe &1 THo 350 #HfSd @ ATAR AT US & T6H &R dlel BRI & Hol G|
fopai &rcft & ?

(1) 60 (2) 90

(3) 120 (4) 150

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(A) L0 e )
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44. The most fundamental characteristic of good adjustment is :
(1) A sincere interest in people
(2) A sound and wholesome system of motives and goals
(3) A high degree of acceptance of ones' environment
(4) A keen insight in to means of attaining one's goals
STH TS B [q4ifdd nara sifieeror &
(1) </ & T By
(2) AT G wedt A dBEId T O yomed!
(3) ST ATATIRYT BT YoT Y W WNHR BT BY razel
(4) U e B TR B ) AR B ufy e sfagite

45. Use of Media either sequentially or simultaneously in a single communication is

called ............

(1) Computer Assisted Instructions (2) Multimedia instructions
(3) Technology aided instructions (4) Web aided instructions
Uhel HAR H MU & Mgfie srorar wewifers warT $ @ dad € ?
(1) H¥=exr Fegdared e (2) dg-Hfear Ren

(3) Hrenfre \ergar ure e (4) 99 \EIdr ura e

46. What is guidance ?
I Helping a person systematically to overcome her difficulties
11. helpirig an individual to understand herself, her needs, and her environment
[II. Helping an individual to score more marks in examination
IV. Giving a mild electric shock and activating the brain of a mentally disturbed

person
Choose the correct answer from the given code :
(1) Tand II (2) II'and III (3)- Il and IV (4) Tand IV
AR T 8 ?

L fod agfod o WY eraRed 1 ¥ derae TRAT B TE YA FARIRA BT R B TS |

I &A1 afdm a7 S Wi @), S9a snavgaaret &) ok Swd gatawer @) [HIE W
HETRIAT BRAT |

II1. f&=N &1 s 3fp urea o= § Tradr o= |

V. AFRTS TeaS! 1ol fad @) He ool & wied o T sk Sad aRass @) Afea

AT |
ged B X W& SR B TIq PRI
(1) T @or 11 (2) 1I @ I (3) TII wer 1V (4) I qer IV
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47. The methods in which the skill and expertise of many teachers is combined to teach a
class is called as :
(1) Panel discussion (2) Team teaching
(3) Group discussion (4) Tutorial method

Qﬁﬁiﬁﬁmﬁngﬁawmwaﬁcblaim&ﬁ?ﬁrgwwaﬁwﬁﬂﬂﬁwﬁiﬁﬁmw
|1y et foan S €, a1 HEan § ?

(1) et ==l " (2) & =4t
(3) e @4l (4) orfRero ==

48. RTE was implemented in india with effect from:
(1) 1st April 2009 (2) 1st May 2010
(3) 1st May 2009 (4) 1st April 2010
R aifdrepR S &1 YRa § w9 o fear Tar ?
(1) 1st 3iier 2009 (2) 1st ®8 2010
(3) 1st #g 2009 (4) 1st 3@ 2010

49. MMPIl s associated with ?
(1) Intelligence (2) Creativity
(3) Personality (4) Mental age
MMPI e Ay g § ?

) gf& (2) gorrcDd

(3) =afie (4) ATTRIE Y

50. Mostly Gestaltist theories of learning are based on the idea of ?
(1) concentration (2) Perception
(3) Mediation (4) Introspection
arfrater MReTeardl iftrTH & Rigra €
(1) g (2) @&
(3) e (4) siaRRegor

51. Internship programme of teacher education has a basic objective to orient a teacher to :
(1) Content courses (2) Practical courses
(3) Complete school environment (4) Research courses
srenTass e @) fRifle] BRI & aRiel Seed Brar & 8 drel fRefd @Y aare
(1) fwgawg ureasa ) (2) <agiRa UigushH
(3) dyot Remerd aramavor (4) ITHUT UTGHHH

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Education)(SET-Z)/(A) P.T. O.
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52. Inclusive education refers to :
(1) Special teaching to diiferently abled children
(2) Sarva Shiksha Abhiyan
(3) Equal educational opportunities to different types of children
(4) Special education in special schools
SR R < T %
(1) fafr=r faenfefat & g fady Moy
(2) 54 fer iR
() ¥ qRE & fIenfil & v vo wa T Rier &7 sawR
(4) fa9y wpell & fagy Ren

53. Which of the following is not a kind of leadership ?
(1) Charismatic leadership
(2) Formal or situational leadership
(3) Functional leadership
(4) Mass leadership
7= ¥ & S g B R TE R ?
(1) TR g
(2) siwenRe vd Rerfdawes g
(3) yerfeds e

(4) wHffes wq

54. Which of the following can be most effective leadership styles in a country like India ?

(1) Autocratic (2) Democratic

(3) Laissez faire (4) None of the above
Fe & A BI9-9T AJd 9RO 9 waeel 8 wear £ 9

(1) THaag (2) ArHAIT

(3) Sfe=Har (4) SWRIFT # | BIg 78
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55. The related literature helps in identification of research problem as it helps in:
I. Identifying consistency among the findings of various researches
II. Identifying inconsistencies among the findings of various researches
1. Identifying gaps in research
IV. Stating the statement f the research problem
Answer with the help of code
(1) Tand II are true (2) I, II and III are true
(3) Tand IV are true (4) I, 1L, Il and IV are true
R AR I FHRAT B UEIH $RA H AEId Bl § adife
L = ewredfel & weg wforll @) gga &R 2 |
II. =T siereiel @ Avd fadwiedl & e &l & |
I < 57 3 R & 9gam oear 2 |
IV. ¥ &1 WeHe g7 & |
PIS B MR TR IR GIIT :
(1) I qorr 11 581 & (2) L 1I Tor 11l &8 &
(3) 1 gar IV & & (4) L 1L 11 @ IV &) &

56. 'Keeping degrees of freedom constant with the increase in level of significance the
standard Table values are found to :

(1) Increase (2) Decrease

(3) Remain unchanged . (4) Have no fixed trend

ds w1 Rer wad gy weiedr w3 # gfg Brll @ e yHifoa ol &1 ey ¢

(1) 9gar 8 (2) @edl &

(3) smaRafda w&ar & 4) ®1$ fARad uafr &1 el
57. Attitude towards teaching profession is considered to be measured on :

(1) Nominal scale (2) Ordinal scale

(3) Interval scale (4) Ratio scale

fRreror erqwr & ufa sfgRy &1 A9 A=Y BT ©

(1) T A9 4R (2) HH® ATTAT R

(3) 3FERTSA HIUAT TR (4) srquifde A9l R

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(A) P.T.O.
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58. Analysis of variance can be used if the measurement is on :
(I) Nominal scale and interval scale
(2) Ordinal scale and Ratio scale
(3) Interval Scale and ordinal scale
(4) Interval scale and Ratio scale
TRV 7 fagerwor &1 SuhT o far o waar € oFR o7 @7 HIGH ... ERE
(1) e Ao vd sicRrer Ao
(2) HfA® 79N T squRIG HY
(3) STcRTed AU Ud A 79
(4) SRS AT Ug Uiy ATORY
99. Which type of sampling method does not fall under the category of probability
sampling ? '
(1) Random sampling (2) Stratified Random sampling
(3) Multistage sampling (4) Sequential sampling
forer g @ =areet R gorem ~ueyt AR & siafa w6 oy ?
(1) argfese fafer (2) e Agfes R

(3) Tgwy =rey fafy | (4) AT =ey fafy

60. Which of the following types of test items would result in wide range of scores ?
(1) Too easy (2) Too difficult
(3) Average difficult (4) Combination (1) & (2) above
Frfefea & 9 5w goR & werr 72 W sidt A anye Yo Bl -
(1) &8d A= (2) 9gd wfcH
(3) oi\a &feH (4) SuRfeRad (1) Torm (2) &1 RS

61. Which of the following is correct explanation about a test ?
(1) Reliability is sufficient
(2) Validity is sufficient
(3) Reliability and validity are not essential
(4) Reliability is essential but not sufficient
FrefaRad & & - oieror &) a8 aaray & ?
(1) fowaiaar yaie &
(2) faferm=rar gale 2
(3) faveairaar &k fafdmmaar smawres =&
(4) favawsirgar sifard & weg yafe =18 &
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62. Difficulty level of items in a test is not a matter of concern in case of tests :

(1) Placement test (2) Intelligence test
(3) Criterion reference test (4) Norm reference test
=feRaa & wmer § #el &1 ofeq war fiar o favg &€ 8 2
(1) s g . (2) gfE we
(3) ¥UCUE HeHa TReror (4) ATG FafHa ueIeror
63. Preparation of test according to test specification/ test blue print mostly enhances :
(1) Reliability (2) Content validity
(3) Concurrent validity (4) Construct validity
wWieor a1 faRre /e o-fic @ o ar weo o dary | fFafaled # g
B ©
(1) favaa=raan (2) Rvgawg a1 e
(3) faemm™ fafemraar (4) o= faferr=rar
64. Which test is more likely to reject the null hypothesis ?
(1) Two-tailed test (2) One-tailed test
(3) Both the above _ (4) None of the above
DI TSI §RT IR IRGET B MR & & FHa=mg 1feras g ?
(1) A TR () e e
(3) SURIET qrH! (4) IWRET H A DIy Azl

65. Which of the following is not common to experimental and Ex-post Facto designs of
research ?

(1) Cause and Effect relationship
(2) Manipulation of independent variable
(3) Controlling extraneous variables
(4) Observation of dependent variable
YANTIH® Uaq BRIR 9 — 99§ S9-91 91d 999 =181 & 7
(1) PRU-GAT T
T (2) WaF W H Wied gged
(3) T =RI @1 R
(4) 3T R &7 JaATDHA
M.Phil./Ph.D./JURS-EE-Nov.-2018/(Education)(SET-Z)/(A) | < o &
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66. Which of the following is not a characteristic feature of research process ?

(1) Empirical approach (2) Systematic Endeavour
(3) Uncontrolled conditions (4) Critical analysis
fer=foad & & SF- T =D oy ufibar & Rrerwer =8 & ?

(1) IHEs IR (2) HAEgg TIq

(3) s aRRerft ‘ (4) TS frgenyor

67. Read the following Statements :
Statement I. Correlation coefficient may be negative as well as positive.
Statement I Reliability of a test can be negative.
Which of the following is correct ?
(1) Statement I is wrong, but II is correct.
(2) Both Statements I and II are correct.
(3) Statement I is correct, but II is wrong.
(4) Both Statements I and II are wrong.
FFr=1ferRaa wem &1 ufgu
DT L e U GHTHS [aq FONHAD a1 8 Tt & |
Do 11 f6=A1 wieror # fRAvaaigar sworers 8 wod) &
= & | Pl v wat ® ?
(1) ®I9 I He F81 =g s 11 & &
(2) ST @ [ 3R 11 w9 &
(3) ®uT 1 WE B fhg doU 11 w8 78 &
(4) T B I 3R 11 ) 748 &

68. Which of the following is not correctly matched ?
(1) Test-Retest : Stability
(2) Split-Half :: Internal consistency
(3) KR-20 : Stability
(4) Parallel Form :: Equivalence
= A4 ol fem ad a8 & 2
(1) ox¥eTor geuRieror = Reyrar
(2) 3f faegeT = oaRe srRegar
(3) @o 3MRo 20 : Rewar
(4) AR YTHY AT
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69. The variance reflecting a systematic difference between groups of measures is termed

as:

(1) Total Variance (2) Error Variance

(3) Experimental Variance (4) Within Groups Variance

IE TRV GT 3ifdel & T H FIRT 3R B TR BRAT B .o FHEAT & ?
(1) o7 s ' (2) Ffe TR

(3) TANTTHD YRR (4) [T FHE THEROT

70. The proposition about research that a research would not agree is :
(1) Research improves the quality of teaching.
(2) Research leads to finding solution to too many problems.
(3) Research is only a personnel achievement.
(4) Research contributes to social progress of the society.
e # 4 P10 g el ufasfa 1 @rg wenelf wewa w@l g ?
(1) <rgem Reror & gorgar ¥ gfEg a=ar B |
(2) 3T 3B FHRIRI &1 & ¢ H WEIS B ¢ |
(3) ST ATH HfAd IUH © |
(4) ST AT BT ATAIGTG S #H ATTET T

71. Which of the following is a non parametric test ?

(1) Analysis of Covariance (2) Analysis of Variance
(3) Median Test (4) Critical Ratio

7 o | eF-ar IR urafers e g ?

(1) FEYTRYT UeTor (2) TR faveyor

(3) FerT TEor (4) ifdre Srgurd

72. 1If the eighth grade students find Mathematics test to be very easy and majority of
them scored high marks, the resulting description would be :
(1) Normal (2) Mesokurtic
(3) Skewed to the left (4) Skewed to the right
Ife amadl @werm F Repifew & fRQwa # forg 7y S &) 980 W THIA & AR DR
IIH e S UId B & W1 yRvmEear faavor g

(1) = ; (2) ATHICE
(3) @it 3R g gar fawA (4) <RI AR g1 gon fawH

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Education)(SET-Z)/(A) P.T. 0.
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73. A non-government organization conducted a study in a Gram Panchayat to see the

impacts of campaign approach on enrolment and retention of rural elementary school
children. This is an example of :

(1) Descriptive Study . (2) Field Experiment

(3) Ex-post facto research (4) Historical Research
W%WW%WWﬁW&%W&WﬁﬂM%W&HW
gwﬁmﬁa%ﬁa@aﬁwqﬁaﬁwe@mw%wmmmﬁmw%w

FETERT & ?
(1) aviTeHe Sregas (2) &= gy
(3) PRITTR T (4) fcreriie sz

74.  An experimenter administered a pretest on both experimental and control groups and
found that the pre-test mean scores of the groups differ. Which of the following
statistical techniques can address this difference in studying the impacts of
independent variable ?

(1) Analysis of variance . (2) t-test

(3) Regression analysis (4) Analysis of co-variance
wuﬁwﬁ%uﬁmww%ﬁaﬂqﬁwwﬁmﬁwwwrm%
sﬁﬂnﬁr’zﬁt{c&qﬂw&wmﬁmﬁaﬂ?%mﬁaﬁ%m@a@mﬁww
B ST B oy PreferlRea % & frw wiferaita Ry &1 SwirT R o | & 7

(1) w=RT &7 fAgeryor (2) =
(3) wfermH faweryor (4) wEywARYl fawermor
75.  Sampling error cannot be estimated when the researcher employs :
(1) Simple random sampling (2) Stratified random sampling
(3) Systematic sampling (4) Quota sampling

Frfefa 4 & fr sraen # gfrems e @1 smaert =8 fear o waan & 2
(1) Wxat argfes yftaay (2) wNipd Iged ufidea—

(3) =aRerd uferera= (4) ®rer ufdags
76.  Which of the following variables is discrete ?

(1) Achievement (2) Intelligence

(3) Aptitude (4) Attribute

fr=fafe % & -1 ey w9 ¥ ardaa & ?

(1) Suefy 2) 3=

(3) 3rfAgRy (4) T
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77. The range of coefficient of correlation between two variables is :

(1) 0to +1 ) +1 to-1

(3) 0to-1 (4) None of the above

Sl W D Y AEFEH D Yol & IRFR w7 8§ ?

(1) 09 +1 (2) +1 9 -1

(3) 09 -1 (4) Sudad H A g T8
78. Which of the following falls under Inferential Statistics ?

(1) Arithmetic Mean (2) Standard Deviation

(3) Harmonic Mean (4) Analysis of Variance

Frfefad o & PF-AT 1 AR wiRed ¥ ?

(1) SiwTfoRia Ay (2) wHe fage

(3) BHD HEY (4) IROT &1 fageiy

79. A researcher wants to study whether discovery learning procedure has an impact on
the motivation of studenis. In this situation, the variable motivation will be labelled

as:
(1) Intervening variable (2) Independent variable
(3) Dependent variable (4) Extraneous variable

U INYHhdl AT BT digal & & @ron Ay das & ufsbar &1 o @ ifRen o
T 99Tg gedr g 7 W Refy A afdoron ax @ g s & s ?

(1) swaad ) (2) f=if3a ==
(3) i3 =R (4) af2g =R
80. When both the variables are dichotomized, correlation is found by using :
(1) rbis (2) rpbis
3) 1 (4) Phi
9 qFl TR gav 9iTd B Y 8l O aeaE 9 sd fhar SR ?
(1) rois €T (2) rpbis ENT
(3) ri 8T (4) phi T
81. The nature of cross-sectional study is :
(1) Experimental (2) Developmental
(3) Case study (4) Descriptive
TP -V IJTTT BT Ui a1 8t g 2
(1) gt (2) ferITHS
(3) 3T ST (4) oS
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82.

83.

84.

85.

86.

Ethnomethodological studies are of the type :

(1) Philosophical research (2) Historical research
(3) Experimental research (4) Sociological research
FIAHATSIANThS 3 fh YbR & o &g & ?

(1) <Eif™e oMy (2) vfeRie o

(3) YIRS oY (4) ™RSS e

A research paper is a brief report of research work based on :
(1) Primary Data only (2) Secondary Data only
(3) Both Primary and Secondary Data  (4) Just explanation of something

wﬁmmﬁmﬂmaﬂi#ﬁﬁ%éaﬁﬂ%l?mmmrﬁw%|

(1) urrfis e ) ) fefre e w®

(3) wrfds vd fgdfius e o (4) dael =T B BT B

According to Hull, which one of the following will be called a dependent variable ?
(1) Habit strength (2) Drive

(3) Resistance to Extinction (4) Excitatory reaction potential

& B IR FrEfeied § 9 B o wr wer s ?

(1) 3red got (2) sfadrg

(3) faeiy & wfy wreRy 4) SoETHS ufdfdar fava

A person wants to know whether he will perform well in a particular job. Which of
the following tools will predict this ?

(1) Attitude test (2) Aptitude test

(3) Intelligence test (4) Interest test

U Afdd qE ST AT ® b e @ fre afdne JoTIR ¥ ot gee wR a2
§9% o0 foss waneor &1 gy vt ST 9y ?

(1) gl uderor (2) IFRETIar et

(3) gfg Tderor (4) fa oer

Who advanced the concept of 'creative self' as the most essential aspect of one's
personality ?

(1) Allport (2) Adler (3) Freud (4) Jung
AT & Waltrd sawas Tee] & wU H OIS T B FGUROT BT ey wifia
fa o ? .

(1) arrerdrd (2) USer (3) WIS (4j ST
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87.

88.

Educational guidance to the students may be provided through :
(I) Organizing interactive sessions

(II) Engaging students in co-curricular activities in a meaningful way
(ITI) Promoting sensitivity to others

(IV) Aquenting students with available vocational opportunities
(V) Introducing students to group life situations

Select the correct code :

(1) (@), D), @), (V)

(2) (V), (1), (IL,) (IV)

(3) (D), (M), (V), (0

(4) (V), (Iv), (1), (IIT)

Bl o1 Fr=fiied d & feas Aregq @ dfére e gar fear o waar g 2
1) iafrar Wi @1 SR B

(1) =eies urgy |l fihar 3§ mreas

()31 & gfay Hag=efierar ol agrar e

(IV)SUeTe] TaTyd TaeR] [ HRId

(V) \aFEs Sigs @) aRRfl & aReg aax

el Bl &1 TIF BT

(1) (@), (D, (Iv), (V)

(2) (V), (), (IL,) (IV)

(3) (1), (I1), (V), (1)

4) (V), (@v), (1), (1)

As compared to questionnaire, the use of interview as a research tool has advantage
owing to : '

(1) its accessibility to personal and sensitive nature of information

(2) its sources of error

(3) its low reliability

(4) the requirement for training of interviewer

UEATaEl B AT H ARITCHR Ydh U™ IUGVT & wd 4 g1 Afed Iyl € ?
(1) AETHR gRT AfFTd d Fageiiet @ urad &1 S Fad! 8

) v I & wa &

(3) sHH fAsga=ar &7 & dadl 8 |

(4) PR BT gRf¥enr & srawgsdr gidl @

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Education)(SET-Z)/(A) P.T.O.
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89.

90.

g1.

92,

A

What is the biggest hurdle in achieving the universalisation of elementary education
in India ?

(1) Scarcity of resources (2) Improper planning

(3) Mindset of the people (4) Population explosion

ART H W B Y URAE R @1 oed ura e e 9d) an aar § 7
(1) FarEE @ ea (2) srfaa smaE

(3) < @ ARy (4) SRIET e

‘Summative evaluation implies :

(1) Use of daily quizzes (2) Monitoring of learning through homework
(3) Terminal tests (4) Weekly grading of students
ANTIHD Hedid | a7 areqd & ?

(1) <% geaRat &1 gar (2) TEBRI GRT IRTH BT AUl
(3) <mafds weyor (4) oEf &1 aTafee W] g

In which area do deaf children tend to show relative inferiority as compared to
general hearing children ?

(1) Socio-emotional development - (2) Language development

(3) Personal and social development  (4) Academic progress
ﬁfﬁﬁif@ﬁﬁﬁﬁm%ﬁﬁafé?am?ﬁffgﬂﬁara\amﬁaﬁgﬁmﬁﬂﬁmé}ﬁm
2 @) TRy Bl & ? .

(1) RIS Jracre faer (2) Wt e

(3) Jufdms vd wmifiie e (4) Sefore ygfy

The process of socialization is accelerated during adolescence through :
(I) Family orientation (II) Religious affiliation

(IIT) The school system (IV) The peer group interaction

(V) Neighbourhood hospitality

Choose the correct set of answers from the following codes :

Codes:

(1) @O, D, d) () dD, V), 1) (3) (O, (1), AV)  (4) (1), (I1), (V)
fepeiraven # wrsliexer @ afar o FefoRea § 1 fras wem Q ggm@r Mo € 2

1) ulRaRe uawrm (1) erfie avaeerdr
(I11) faermera gomet (V) farea sfafhar
(V) U89 AgHAHER

FrfoRad @rs @ @& 3w AR

BIS :

(1) (@), D), D () 1), V), (1) (3) (D), (), (IV) ~ (4) (I1D), (1), (V)

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(A)




A 27

93. The concept of Pratityasamutpade (that nothing happens without cause) is one of the
central principles of :

(1) Jaininsm (2) Budhism

(3) Vedanta (4) Samkhya

yAE (1 sRY & @ W ufed Tl g) @ Gaoudl feue ey Rigrd 7§ 9
T 8 ?

(1) 59 g3 2) g€ &3+

(3) d'Td (4) W= <9+

94. Who sugeested that questions are powerful means of triggering thinking and lead
p
people from "unconscious ignorance to conscious ignorance”

(1) Socrates (2) Chanakya

(3) Plato (4) Aristotle

fore™ e o & weR fiaw o1 R @R a1l walfde W deE g1 8 del SRl @l
AT AT | Fod SN B 3R Ygd B ® 2

(1) i (2) @
(3) @i (4) 3RE]

95. Two boys have an 1Q of 150. From this it can be concluded that :
(1) Both the boys will be successful in high school and college
(2) These boys have equal mental ages
3)

(4) None of these can be concluded

TT arer] &7 g @1 150 € a8 e PreTelr o el & fb ¢

(1) <1 arere fQare don #eifderda F awadar Ui &3l

(2) 39 9Bl B AERIS MY GXIER B

(3) <A arerdl & Aral-far gigaar A g 3 SWR §

(4) T A 318 A ey wE TE 8

The parents of both the boys have above average intelligence

96. In operant conditioning reinforcement is contingent upon :

(1) Nature of stimulus (2) Nature of response
(3) Both (1) and (2) (4) None of these
g s@me H grdem fba o) ek a=ar g 2

(1) I9US B UHia (2) 3rgforar @ gpfa
(3) (1) @ (2) &= (4) 359 A BIg Tl
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97.

98.

99.

100.

Solomon's four group design falls under :

(1) Pre-experimental design (2) True-experimental design
(3) Quasi Experimental design (4) Factorial design

WIS BT AR WE Afeed P § & Rewa siavta st 2 2

(1) 9ol FarTTeHS ifdey (2) Tt AR e

(3) 3l TG AW FH (4) FIIFON sfewey

Error in the findings of an experimental study caused by deliberate selection of some
bright students for experimental group is known as : '

(1) Random sampling error (2) Systematic sampling error

(3) Random measurement error (4) Systematic measurement error

Wﬂﬁgfﬁ%{vﬁﬁaﬁmﬁ@ﬁwﬁﬁﬁumwm AT B B HRUT b
Y AT e @ frsout § g @ PR ¥ < s w7 o o 2

(1) agfRes ufiest e (2) wafer wfeet e
(3) ugRo® wmum Ffe (4) <gaRerg #mgs Ffe

The size of sample for a study mostly depends on :

(1) Gravity of the population

(2) Geographical area of a study

(3) Homogeneity and heterogeneity of the population

(4) Type of Population

AT & forg uRreet &1 snaR wr: PrefRed # @ e W) PR wear @ 7
(1) ST g9

(2) g B e &

(3) SMETEY BT AT T e Sdraar

(4) 3MEE & YR

Cumulative frequency graph is known as :

(1) Histogram (2) Bar-gram
(3) Pie-gram (4) Ogive
FI! IRARAT UTH BT R B § 2

(1) smaafa= (2) Tvs ARG
(3) ui aRw (4) =rufesor
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1. Which of the following is a non parametric test ?

(1) Analysis of Covariance (2) Analysis of Variance
(3) Median Test (4) Critical Ratio

=1 % 1 B R e we @ 7

(1) \EYH[IOT geyor (2) 9GO fageryor

(3) #egH ukeqor (4) wifaw s

2. If the eighth grade students find Mathematics test to be very easy and majority of
them scored high marks, the resulting description would be :
(1) Normal (2) Mesokurtic
(3) Skewed to the left (4) Skewed to the right
H%mmwﬁﬁaﬁﬁwa%ﬁwﬁ%qwcwﬁqu WRel ¥HEd & SR 3ifdeax
SR AW S I Bt ¥ o) gRomeT favor g

(1) S (2) FSraTi®
(3) 9Tl 3R gwT gar fawy (4) < SR gar gt faww

3. A non-government organization conducted a study in a Gram Panchayat to see the
impacts of campaign approach on enrolment and retention of rural elementary school
children. This is an example of :

(1) Descriptive Study (2) Field Experiment

(3) Ex-post facto research (4) Historical Research
wﬁvw@%#m%ﬁm&%m%ﬁﬁmﬁﬁmmﬁﬁmﬁwa&
T Bl & Rarer fivg T 8N W A Surm g @1 erra fea a8 R

JSTER0T & 7
(1) 9IRS 3Ry (2) &3 aruy
(3) BHARR rAe (4) faefie sewum

4. An experimenter administered a pretest on both experimental and control groups and
found that the pre-test mean scores of the groups differ. Which of the following
statistical techniques can address this difference in studying the impacts of

- independent variable ?

(1) Analysis of variance (2) t-test

(3) Regression analysis (4) Analysis of co-variance

U WANTed ! 5 VAR YaH i e St o7 qf e fear aer a8 gar sRn

ﬁﬂ?{sﬁfﬁujqﬁma%wwmﬁm%ﬁaﬁaﬁa%gW?%Wﬁwm

B S & forg Frafoes § < R wiferedra wRIf o Suai Bar o et & 2

(1) WRoT &7 fageiyor (2) A

(3) ufrma faweiyor (4) HEUHRVT fJgenyyy
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5. Sampling error cannot be estimated when the researcher employs :

(1) Simple random sampling (2) Stratified random sampling
(3) Systematic sampling (4) Quota sampling
Preferfad 3 & e eraver # wfrawm R @1 e 8 fbar S Wahdr € 7
(1) W_a Agfess glaaad (2) TNpa agled wleT
(3) wmaRerd ufd=a (4) drer gfdEad
6. Which of the following variables is discrete ?
(1) Achievement (2) Intelligence
(3) Aptitude : (4) Attribute
fr=ifaiRas § ¥ PIA-AT1 99 wU | IFTd § ?
(1) Sy« (2) g
(3) srfaghy (4) eror
7. The range of coefficient of correlation between two variables is :
(1) Oto+1 ' (2) +1to-1
(3) 0to-1 (4) None of the above
A B e AEAEE B PG b IR @11 § ?
(1) 09 +1 (2) +1 9 -1
(3) 09 -1 (4) Sudw # A g Al
8. Which of the following falls under Inferential Statistics ? :
(1) Arithmetic Mean (2) Standard Deviation
(3) Harmonic Mean (4) Analysis of Variance
freforRag § | PIF-A1 U ATAING ARZSH! & 7
(1) @R Ared (2) w1 o=t
(3) BRIHD A (4) wROT &7 faweryor

9. A researcher wants to study whether discovery learning procedure has an impact on
the motivation of students. In this situation, the variable motivation will be labelled

as :
(1) Intervening variable (2) Independent variable
(3) Dependent variable (4) Extraneous variable

Wﬁaﬁmmwm%%@ﬁﬁ@@mﬁaﬂu@smwﬁaﬁﬁﬁww

T $TE Tear & ? Ui Refy A aifoRon @R @7 @ e < SRt ?

(1) sl =R (2) =t ==

(3) f3r =R (4) " =R
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10.  When both the variables are dichotomized, correlation is found by using : -

(1) rois (2) rpbis
(3) 1 GRS
S SR g 9T R Y 8 o) Aear S sa A o ?
(1) rpis ERT (2) rpbis BT
(3) rt BRT (4) phi &RT
11, Internship programme of teacher education has a basic objective to orient a teacher to :
(1) Content courses (2) Practical courses
(3) Complete school environment (4) Research courses
sreaTyes Rierm @) Rif¥g $riwT @ srrell Sivd gar ¥ B9 el Riste @7 qaqr -
(1) favgexg JreamH - (2) aEIlRe urgamH
(3) et Rrerer araraer (4) ST T

12. Inclusive education refers to :
(1) Special teaching to differently abled children
(2) Sarva Shiksha Abhiyan

(3) Equal educational opportunities to different types of children
(4) Special education in special schools

saora R < arfury 2

(1) faf=r fenfial & fow fadiy Reor

(2) |q e rfrgr

() w4 e @ faenfial & fov v @ e e o1 s
(4) fa=ry w@at # fagy e

13. Which of the following is not a kind of leadership ?
(1) Charismatic leadership
(2) Formal or situational leadership
(3) Functional leadership
(4) Mass leadership
=1 # q - g B ypR TE T ?
(1) TR I
(2) shoaRe vd Refamws =g
(3) WS g
(4) wmfes e
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14, Which of the following can be most effective leadership styles in a country like India ?

(1) Autocratic (2) Democratic

(3) Laissez faire (4) None of the above
e & & -1 g HRA O S H UHTaRITel 81 eoal 8 7

(1) Twaar™ 2) FHaA™

(3) e (4) SWRIE H H PIS A8

15. The related literature h.elps in identification of research problem as it helps in :
I. Identifying consistency amon g the findings-of various researches
II. Identifying inconsistencies among the findings of various researches
II1. Identifying gaps in research
V. Stating the statement of the research problem
Answer with the help of code
(1) Tand II are true (2) I,1I and III are true
(3) Iand IV are true (4) I 11, Ill and IV are true
e TIfRed O AT B R SR GEde sl 8 aife
I faft= ol @ weg Wl #1 g v ¥ |
1. ff= Myedisl & wea Rdfoal @ ggar o 2 |
[, o s & Rfded? @1 gear w=ar |
V. O &7 WeHe a9al & |
BIS P IR YR ITR QY
(1) I @ I 98 (2) -1, 11 @7 111 &) 8
(3) I qerm IV w8 & (4) 1,11, 111 <o IV <8 &

16. Keeping degrees of freedom constant with the increase in level of significance the
standard Table values are found to:

(1) Increase (2) Decrease

(3) Remain unchanged (4) Have no fixed trend

WS Al B ReR x@d gy |fwar W A gfg Bl 8 ey el @1 e
(1) Sgar @ (2) wear @

(3) sraRafda ve&ar & @) »13 fAf¥ad gafr =& arh
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17.  Attitude towards teaching profession is considered to be measured on :

(1) Nominal scale (2) Ordinal scale

(3) Interval scale (4) Ratio scale

Rrerr g & wfd gy a1 a9 971 g @

(1) a*fipa AT W (2) wfa® o w®
(3) SfTRTST AU 4R (4) srquifae #o) @R

18.  Analysis of variance can be used if the measurement is on :
(1) Nominal scale and interval scale
(2) Ordinal scale and Ratio scale
(3) Interval scale and ordinal scale
(4) Interval scale and Ratio scale .
TAROT T fA2eror 1 IuhT @ fhar S AT § eRR << BT A9
(1) aTﬁga—cr HIYAT TG RIS J19+
(2) »fA® AU Td s A9
(3) RIS AIUHT U A A1G
(4) SFTRTT HIGAT Ud Uiy Haw

19. Which type of sampling method does not fall under the category of probability
sampling ?

(1) Random sampling (2) Stratified Random sampling
(3) Multistage sampling (4) Sequential sampling

fre yaR 1 et R gerem wmresl A @ sionfa & amy ?

(1) aglzes fafer (2) =Nipa argfes fafy

(3) TEwT e fafy (4) HRTa =gTEe fafdy

20. Which of the following types of test items would result in wide range of scores ?

(1) Too easy (2) Too difficult

(3) Average difficult (4) Combination (1) & (2) above
fFrfeian # & f5e yor & wdewr w&) st o e Yo Bl

(1) agT AT (2) 9T Hf

(3) 3Md wfcw (4) SuRfeRed (1) dem (2) &1 R
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21. Spranger's typology is based on man's :

(1) Interests (2) Body structure
(3) Behaviour (4) Attitude

BSR &1 YoR s afed & g vg WemRa 8 2

(1) wfa (2) IRR G

(3) =dER (4) 3feaw

22. Which one of the following conditions qualifies to be an instance of negative
reinforcement ?

(1) Giving a punishment (2) Withholding a reward

(3) Withdrawing a painful stimulus (4) Excessive rewarding

frefeRad § Q@ H19- gedT TERAE JTded BT SETE 8 ?

(1) To$ & (2) RBR BI b o1

(3) TEATH BEUH DI G BIAI (4) Irafd® GBI <A1
23. Law of exercise enables students to :

(1) Diligence (2) Intelligence (3) Insight (4) Problem solving

g <Rt Bl # e Bl B

(1) uRsm @1 aea (2) g« (3) Ir=iglte (4) FERRIT AARIT &1
24, Ivan Illich is known for:

(1) Life Long Learning (2) Life Skill Education

(3) De Schooling Society (4) Distance Education

go1 gforg fwrar forg favera € 2

(1) arofad AR (2) Sfra erere e

(3) S-THeT ArATES (4) <uad fRreT

25. Major contribution of Psychology to education lies in :
(1) Defining the goals for which teacher should strive.
(2) Identifying potentially successful methods and procedures for teaching.
(3) Providing scientific foundation for the art of teaching.
(4) Comparing the relative effectiveness of various teaching procedures.
e # ATgdIeion BT & ANTE @ ' 7
(1) ST weat 31 aRAMe BT e wiky @ o srae o YAt BRAT Fiiey |
(2) 3G B T WU ¥ we fARAT @ afhael @ ggdr x|
(3) 3EATUT Hell & (Y IS+ MR F&TT HRAT |
(4) fafde fre ufharel & afde gwresierar ®f Jefal &1
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26.

27.

28.

29.

Latent learning is a concept enunciated by :

(1) Hull (2) Piaget

(3) Tolman (4) Skinner
UTe AT @) Hohead T &1 ufdures i & ?

(1) & (2 fars

(3) cfem= (4) R

A student of class XII aspires to get 'A" in his school final examination. Which of the

following will best explain his/her motivation ?
(1) Need for affiliation (2) Need for self esteem
(3) Need for actualization (4) Need for achievement

AREdl BET B U BT AU T # Al wlem ¥ A’ Ury @ aneie) 2 Prefafeg
W BH-AT IHAD IR By R ?

(1) =gl B TITIH] (2) STHAR B! ATITID]

(3) ARG B SrravTEHr (4) I} @Y MqTIHr

Defence mechanisms are used by the :

(1) Ego of a person knowingly (2) Superego of a person knowingly
(3) Id of a person unknowingly (4) Ego of a person unknowingly

ReT YRt B1 IwanT Ffeea § & frwa garT frar wwr & 2

(1) =afdd & 3@ ORI o U # (2) AfeT & UEn <Ay oeq w9 H

(3) @fl & 3§ qRT A wu H (4) afdd & aeq gaRT Ay Wy ¥

A student who fails in an examination makes a complaint that the examiner was
strict. He/she is using a defence mechanism of :

(1) Sublimation ' (2) Regression

(3) Rationalization (4) Reaction formation

w%ﬁﬁmﬁmﬁw%m%%@wwﬁﬁ@mﬁmW'
B <eT YRAT BT TENT PR XET R ?

(1) SaTcirdRoT (2) wferrae
(3) sifereg vermu= (4) ufafesar i
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30. A student suffering from depression and sadness can be classified as :

(1) Sanguine type (2) Phlegmatic
(3) Choleric (4) Melancholic
ATRYE BT UT SIaETE & T B Bl b Waw # @ O |Har g ?
(1) Smemaral (2) Hra=EA
(3) R 4 @
31. The Study of Philosophy should be considered important for the prospective teachers
because :

(1) Philosophy gives broader perspective of educational issues and concepts.
(2) Philosophy helps in making a wise person.
(3) Philosophy brings clarity in educational concepts.

(4) Philosophy provides framework for viewing educational problems in true
perspective.

T T BT oy W) SRAIam] B g FEwayel & SIdr 8 i

(1) == I e gel o rmuRvmel & 9R ¥ g oRtey ga™ o 2 |
(2) =2 e Uo faeeia 999 @ # HEE BRAT © |

(3) = T Ve srauRvTe § WEedr a2 |

(4) mmmmﬁﬂﬁqﬁﬁwﬁ&wqm&m IqA&l P B |

32. InJain Epistemology which one is the basis of true knowledge ?

(1) Inductive reasoning (2) Deductive reasoning
(3) Dialectic reasoning (4) Naya based reasoning
S At # W S BT U SR T B 7 |
(1) IMTHATHS T (2) TS B

(3) gdTHG dd (4) =7 MR @

33. The great sociologist who held the view that "education doesn't bring about social
change; rather the social change results into an educational change” was :

(1)  McDougal (2) Aristotle
(3) Durkheim (4) Dewey

a8 TR B & o AT & @ Ren wmifte oRedw T8 @it sty AT
uRead e vacda F aRkfer gar 8" ?

(1) Ao (2) IREL

(3) &M (4) fefa
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34.

35.

36.

Which of the following is not a factor for social change in India ?

(1) Caste (2) Regionalism

(3) Language (4) Census

=1 3§ q B FRS IR § ARG WRedT T FRE TE L ?
(1) <fa 2) af3gare

(3) wmHT (4) STFTTOET

Equality of Educational opportunities is possible in India by. : .

(1) Extending portals of educational institutions to all without any discrimination
(2) Opening more educational institutions

(3) Privatizing the education system in the country

(4) Public funding of Education

IR H R § e S g 2 2

(1) R st g @ e <ivenell & TarT @ & e @em

(2) 3R sl Afdrs wRemd @rern

(3) <o # e yomel &1 FAliexor w=er

(4) TR &1 SArpfacieyor

Role conflict and issues of collaboration are most relevant to which of the following

disciplines ?

(1) Cultural Anthropology

(2) Educational Sociology

(3) Politics and Education

(4) Value based Education

4fPT gas A &R TEAr & g Fefeien ¥ 9 5 fer & g waie <@g § ?

(1) Hr=pfae FAsm

(2) et eSS
(3) o @R e
(4) oo smaRa e

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(B) P.°E.CO)
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37.

38.

What is the view of Educational Sociologists on Character Education ?

(1) Character Education is the exclusive province of the home and religious
organizations.

(2) Character Education is impossible without religious and denominational
doctrine.

(3) Character Education is best handled by giving the target readymade judgments.

(4) Character Education should involve the direct discussion of moral issues.

araRer e # Hfeye el @1 @ wa ® 7

(1) areRer R w1 ae iR enfiie dredl &1 & 8 |

(2) ameRor R 31 aifife vd wivaRie Rigri @ fmr fRar s s 2

(3) meReT R @ waRw @ et & g aft @fedl 1 e g fofg Ry o
MRy |

(4) amaRvr Rrem # Jfe Tl W gt gat B ey |

"Investment in Education is the single, largest item of expenditure, next to defense, in

many countries today" What is the social justification ?

I. Education has become a pressing need under globalization.

II. Education is the Panacea for social ills.

MI. Education produces unselfish and competent leaders for establishing polity.

IV. Education helps to procure security, prosperity and social well-being for all.
Choose the correct answer from the given codes:

Codes:
(1) Iand III are correct (2) IIand IV are correct
(3) Tand II are correct (4) III and IV are correct

FS Ul N verT &5 @ arg R & 4 Ry € te 991 98 2 39a! amMiee A a1
27

I Jefieror & aefiH R o sifdemawas | &1 TS B |

1. P e qRgdl & % SR & [y AT & |

1. e <rords & forg ereareft va wmef =ar gl €

1v. foer o & fog grenm gy ok e #a @) Jer § werge e |
B U T TR BT I DI :

PIS :
(1) I qr [l 8 2 () 11 qr IV |8 &
(3) 1 @ II & & (4) III 921 IV 98

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Education)(SET-Z)/(B)
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39. Education as fundamental duty of parents and guardians was inserted in Article 51 A
of the Indian constitution by :
(1) 44th Amendment (8) 86th Amendment
(3) 74th Amendment (4) 42nd Amendment
ARG & WAf9EE B 7T 51 A A Ren o "a-fiar ok sfvee! @ Aifte ada @ w5
H fd deee @ ganT afaferd fear a2
(1) 4447 H=mera (8) 86af Heier
(3) 744t HoEH _ (4) 4241 HelerE

40. Religion is an institution because :
(1) It teaches religion to people.
(2) It discharges an important social function.
(3) It imparts moral and spiritual education to people.
(4) It gives respect to the individual in society.
(1) I& & &1 g9 Ri@mar 21
(2) ¥ TP AEYl ARG R Bl ¥
(3) IE Al @I Afde ik anfifes Brr yam owar 2
(4) I8 FA | @afdd B A U B § |

41. In which area do deaf children tend to show relative inferiority as compared to
general hearing children ?
(1) Socio-emotional development (2) Language development
(3) Personal and social development  (4) Academic progress

frefoied & @ 6 &3 d R aesl § g arel aras) @ o § wfte § W

g & wgfiy Bl §
(1) | HaaTe s faerT (2) wreT e
3) Fafdme vd arifiie e (4) Vel g

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(B) PT 60
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42,

43.

44,

The process of socialization is accelerated during adolescence through :
() Family orientation - (II) Religious affiliation

(1IT) The school system (IV) The peer group interaction
(V) Neighbourhood hospitality

Choose the correct set of answers from the following codes :

Codes:

(1) (1), (II), (I1I) (2) D, (v), @

(3) (D), (1), AV) (4) (1), (I1), (V)
fpeiRTaRe ¥ ATCERer @) ufthar o7 MR § A feae wreaw & ggrar fRear @ °?
() uRaRe udrE (I1) enfie Fr=rar
(I11) faarrera gomredt (V) s sfafbhan
(V) U89 HEAMaR!

f=feRaa ere w0 @&l sae AR

DS -

(1) (D), (1), (1) (2) (D), (V), (D)

(3) (D), (I1D), (IV) (4) (1), (ID), (V)

The concept of Pratityasamutpade (that nothing happens without cause) is one of the
central principles of :

(1) Jaininsm (2) Budhism

(3) Vedanta (4) Samkhya

ydergar (Re1 aRY & @o A gfed 78 8 @) Ao s d=la Rigral § |
TH 8 7

(1) 39 g3F (2) gg <

(3) daTd (4) g e

Who suggested that questions are powerful means of triggering thinking and lead
people from "unconscious ignorance to conscious ignorance”™

(1) Socrates (2) Chanakya

(3) Plato (4) Aristotle

fRrerY GemaT o & wee Riad @1 IRT wxy 97 Faifte weEd |meE e € an Sl @
ST IS ¥ WUd M @1 3R Ygd PR & 7

(1) ga~a (2) =IO

(3) wwey (4) IR
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45. Two boys have an IQ of 150. From this it can be concluded that :
(1) Both the boys will be successful in high school and college
(2) These boys have equal mental ages
(3) The parents of both the boys have above average intelligence
(4) None of these can be concluded

31 9Tl BT 319G, 150 8 a7 ey fHorar o deoar & & ¢
(1y et arere fRerew g weferey § goeaar g e
(2) 3 dreipl B AFRIG IR IR B

(3) =l aTere! @ AT gigaar ¥ g ¥ R §

@) 378 | B N ey wE T8 7

46. In operant conditioning reinforcement is contingent upon :
(1) Nature of stimulus (2) Nature of response
(3) Both (1) and (2) (4) None of these
fraTuRe Srgeer d grder B R ik avar g 2

(1) SEus @) upfa (2) argfoban @) uepfa

(3) (1) @t (2) <t 4 T4 |9 Bz T
47. Solomon's four group design falls under :
(1) Pre-experimental design (2) True-experimental design
(3) Quasi Experimental design (4) Factorial design
AT BT TR e Avaed Frefafad & & feas sfefa amar @ 2
(1) 319el WANTTAS e (2) Ul wAFTTHS ifieed
(3) o1 FAMTIHG Sy (4) SO ey

48. Error in the findings of an experimental study caused by deliberate selection of some
bright students for experimental group is known as :
(1) Random sampling error (2) Systematic sampling error
(3) Random measurement error (4) Systematic measurement error
YR AR @ foy g gfg oo e el o SHgger 99H e B aRor B
TQ WA Jeadad @ fwpst § gie a1 frafafya § & fews wu § S sm ?
(1) wglRes glest Ffe (2) ewaRera ufcrest Ffe
(3) uglRes AU+ Ffe (4) waRera =9+ Ffe

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(B) P.T.O.
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49. The size of sample for a study mostly depends on :
(1) Gravity of the population
(2) Geographical area of a study
(3) Homogeneity and heterogeneity of the population
(4) Type of Population
ST @ forq ufeesl @1 apeR gy el 4 1 few w ek wear g 7

(1) SE=T g9

(2) Ty H1 HIfors &
(3) METET B Forrrdr a7 faww Srdaar

(4) JMERI & THR

50. Cumulative frequency graph is known as : .
(1) Histogram : (2) Bar-gram
(3) Pie-gram (4) Ogive
Hodl IRFEIRAT UTH DT T BEd & 7
(1) smyafz (2) TS IIRE
(3) U IRE - (4) =ufaeRor

51. Which of the following is correct explanation about a test ?
(1) Reliability is sufficient
(2) Validity is sufficient
(3) Reliability and validity are not essential
(4) Reliability is essential but not sufficient
fr=falRad 3§ 9 SH-0 Wieror & w8 @ra € °?
(1) foawser gar &
2) fafemrar gaia @
(3) fazgwasirar iR RffMmE aws T8 8
(4) favgasiaar aiferd & wreg oot =81 &

52. Difficulty level of items in a test is not a matter of concern in case of tests :

(1) Placement test (2) Intelligence test

(3) Criterion reference test (4) Norm reference test
fr=falaa @ e # A8l &1 sfeq wr R &1 vy =61 8 2

(1) A= gderon (2) gfg uderor

(3) ATIEUE WM ulleror ' (4) A Aehia oo
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53. Preparation of test according to test specification/ test blue print mostly enhances :

(1) Reliability (2) Content validity
(3) Concuirent validity (4) Construct validity
qﬁwaﬁﬁr@m/qﬁwqﬂeﬁaﬁﬂwqﬁmaﬁﬁmﬁﬁmzﬁwﬁﬁgﬁﬁm
B §
(1) fazag=aar (2) favgawg @ fafRHEFIan
(3) faemm fafemm=an (4) =T fafemrar

54. Which test is more likely to reject the null hypothesis ?
(1) Two-tailed test (2) One-tailed test
(3) Both the above (4) None of the above
FH-Y e gRT IR RGBT e S 31 A 3ifed € 2
(1) gd-gerr weor (2) TH-gEIT TqeTr
(3) SWRIad &FI (4) SRR H§ | PIg &I

55. Which of the following is not common to experimental and Ex-post Facto designs of
research ?

(1) Cause and Effect relationship

(2) Manipulation of independent variable

(3) Controlling extraneous variables

(4) Observation of dependent variable

ST TaR TR T — PR W B e e T 2
(1) PRU-FHATT T

(2) WdH W H WieH 98
(3) STEAT BRI BT A
(4) wﬁﬂmwmﬁﬁm

56. Which of the following is not a characteristic feature of research process ?

(1) Empirical approach (2) Systematic Endeavour

(3) Uncontrolled conditions (4) Critical analysis

frafaRad F ¥ -1 T {6 o gftar & e 781 € 7 .
(1) amg¥fde SUTTH . (2) HHIE YA

(3) afrafze aRRfodt (4) AHTATGATHD [ATATOT

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(B) P.T. 0.
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57. Read the following Statements :
Statement I. Correlation cocfficient may be negative as well as positive.
Statement II. Reliability of a test can be negative.
Which of the following is correct ?
(1) StatementIis wrong, but Il is correct.
(2) Both Statements I and II are correct.
(3) Statement I is correct, but II is wrong.
(4) Both Statements I and II are wrong.
ferfeiRae wee @1 ufey
DU L e O PFHS UIH S S 8 FaHd & |
U 1L B0 ofleror # Reaa=-iorar swonersd 8 daa) 2 |
foret & A Bl wo W R 2
(1) @ I |el 981 g w11 e &
(2) T BT I 3R 11 9E &
(3) @ 1 W& & fg w5 11 98 =8 @
(4) SFI ®UF [ &R [ 98 #8) &

58. Which of the following is not correctly matched ?
(1) Test-Retest :: Stability
(2) Split-Half :: Internal consistency
(3) KR-20 : Stability
(4) Parallel Form :: Equivalence
= A | - o w98 8 2
(1) 9¥Ieror gquRIeTor = Rerer

(2) et fRrese « afaRe sFReua
(3) @o ARo 20 :: Rerdr
)

(4) TAFGR U™y = FHR/U]
59. The variance reflecting a systematic difference between groups of measures is termed
as :
(1) Total Variance (2) Error Variance
(3) Experimental Variance (4) Within Groups Variance
I8 YR S el & WE H raRed iR @Y g HRar ... HEATIT & ?
(1) gof weRo (2) 3 W
(3) TARTIIH YR (4) ST FIE URAROT

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Education)(SET-Z)/(B)
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The proposition about research that a research would not agree is :
(1) Research improves the quality of teaching.

(2) Research leads to finding solution to too many problems. -

(3) Research is only a personnel achievement.

(4) Research contributes to social progress of the society.

ey § W P o meell aRey & g el weed e B 2
(1) srier fReror & o § gf xar 1

(2) ST SG AT BT T GI H WEdd Bl ¢ |

(3) S HH HAPD SHeA™ B |

(4) ST TS @) IR IR H ATEr &dl § )

The nature of cross-sectional study is :
(1) Experimental (2) Developmental (3) Case study (4) Descriptive
T HTA-NRITl FeITH B YFpha F7 Bl © 7

(1) e (2) fasracs (3) et emTIE (4) OIS
Ethnomethodological studies are of the type::

(1) Philosophical research (2) Historical research

(3) Experimental research (4) Sociological research

o RTEe srade R UER & oedH B € 7

(1) =reifae o 2) fERrs om

(3) TANTIHG T @) amfes o

A research paper is a brief report of research work based on :

(1) Primary Data only (2) Secondary Data only

(3) Both Primary and Secondary Data  (4) Just explanation of something
v 3y AR T T ) <t Rard @ ¥ 1 @ o smenRa S B

(1) wafAe & W ) feios s w®

(3) wefie T4 fgaad o ) (4) Hae @RS B B @

According to Hull, which one of the following will be called a dependent variable ?
(1) Habit strength (2) Drive

(3) Resistance to Extinction (4) Excitatory reaction potential

7o B oER et § & 5 o =R wer W ?

(1) omed aa (2) TR

(3) facia & ufd wTeR™ (4) SoETRE ufafssar fava

17
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65. A person wants to know whether he will perform well in a particular job. Which of
the following tools will predict this ? :
(1) Attitudetest (2) Aptitude test (3) Intelligence test (4) Interest test
UG Afdd I8 S mmed] ® 5 qr o el afre R A erewT wed @ wa ?
g% fog vy yawor &1 yawT far s =nfey ?
(1) SfogRY weror  (2) sif¥aradr wewr(3) gy weror (4) e o

66. Who advanced the concept of 'creative self' as the most essential aspect of one's
personality ?

(1) Allport (2) Adler (3) Freud (4) Jung

T & dlferp Tavad Uge B WU A GG ST B AGURT BT [HET TR
fepar o ?

(1) sferdd (2) TserR (3) wras 4) 9

67. Educational guidance to the students may be provided through :
(I) Organizing interactive sessions
(II) Engaging students in co-curricular activities in a meaningful way
(III) Promoting sensitivity to others
(IV) Aquenting students with available vocational opportunities
(V) Introducing students to group life situations
Select the correct code :
D @, 1), @Vv), (V)
(2) (V), (1), (IL,) (IV)
(3) (1), D), (V), (O
4 V), (1v), (), (1)
Bl B FEfaRa & feas meam & A ke v fear o wear € 2
(I) 3idafhar wRI &1 g ax
(1) |rie urega e fhar & omaw
()37 & vl Fdg=eiierdr &) gerar Sav
(IV) Sucte] TavTe TRl & 3raiTe BRI
(V) wrrEd S &1 gRRfet & gRey exrax
WET BIS BT I Eﬁﬁﬂ'ﬁf :
(1) (D, (), aV), (V)
(2) (V), (), (IL,) (IV)
(3) (TI), (1D), (V), (0)
4) (V), (IV), (), (1)
M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(B)
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68. As compared to questionnaire, the use of interview as a research tool has advantage
owing to:
(1) its accessibility to personal and sensitive nature of information
(2) its sources of error
(3) its low reliability
(4) the requirement for training of interviewer
TeTae @ gl § e R T 9 SRSl & w9 § @l e suari § ?
(1) PR ERT AT vd dagereliel aam U<t & Sl Wi &
) zaa I @ I &
(3) ! faegaiadr &5 8 ol 2 |
(4) HETHR BY GREIET B AILIEHT Bl 8

69. What is the biggest hurdle in achieving the universalisation of elementary education

in India ?
(1) Scarcity of resources (2) Improper planning
(3) Mindset of the people (4) Population explosion
R F T @ oy gRfe BT @ Fe w Xy § wed 99! 9 7§ 2
(1) FARAED B G (2) sfea s
(3) &rM @ FAEGRY (4) SraeE favme
70. Summative evaluation implies :
(1) Use of daily quizzes (2) Monitoring of learning through homework
(3) Terminal tests (4) Weekly grading of students
ATTeHS Aedia W ag1 argd @ 2 _
(1) e gearRAl &1 ganT (2) TEHE™ FRI ARAH BT AT
(3) <mafdre g (4) BT B WIS TR IRIET
71. 'Mirambaka'- The school based on ideas of free progress education was advocated
by :
(1) M.K. Gandhi (2) Aurobindo
(3) Vivekanand (4) John Dewey
RrifeqeT e BT MR & @ R o1 Ao g8 feae) frareRn o s 8 7
(1) #&TeAT TR (2) erfa=T
(3) fad@mr=< (4) w7 f3fa

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education) (SET-Z)/(B) P.T.0.
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72. Who coined the term Cultural capital ?

(1) Bowel and Gintis (2) Bourdieu and passeron
(3) Young (4) McRobbie and Aryon
HIRS DIUCH IE TS I B & P

(1) dfgeq gar e (2) drgY AT YRR

(3) (4) HPHRE AT IR

73. According to Guilford's SI model total number of factors that constitute the human
intellect is :

(1) 60 : (@ %

(3) 120 | 4) 150

AIeprE @ THo oo Al & SFUR WG WS B Tod B} T BRB] B Bl T
foaer gxft § ?

(1) 60 (2) 90

(3) 120 (4) 150

74. The most fundamental characteristic of good adjustment s :
(1) A sincere interest in people
(2) A sound and wholesome system of motives and goals
(3) A high degree of acceptance of ones' environment
(4) A keen insight in to means of attaining one's goals
STH FHIAIST BT Faffeh SR Srfrereror S
(1) &rm 3§ =t Bfy
(2) YIS TA1 F&l B THATT TF g qoTelt
(3) U FIATERYT BT f FT I TNHR BT BT 7R
(4) AT el B YT BT B WEET B gy TEA siache

75. Use of Media either sequentially or simultaneously in a single communication is

called ..c.oiiivn

(1) Computer Assisted Instructions (2) Multimedia instructions
(3) Technology aided instructions (4) Web aided instructions
UHel HaR H WA & AIHATG 31erar Aedbifers YA & &7 FEd & ?
(1) SR Fegddpa e (2) 9g-Aifsar R

(3) wrenfira werer g e (4) 99 FETIar i e

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(B)
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What is guidance ?

1. Helping a person systematically to overcome her difficulties

II. helping an individual to understand herself, her needs, and her environment
[1I. Helping an individual to score more marks in examination

IV. Giving a mild electric shock and activating the brain of a mentally disturbed
person

Choose the correct answer from the given code :

(1) Tand II (2) Il and III (3) Mand IV (4) Tand IV

ARteE Wl € ?

[ 3 afie & W e 3 & GERIE] SRAT B a8 AU TR B R DR S |

[ 5 <afid @7 S WY P, SE AEvIEde @ SR SHe GUERe H FHEH A
FEIAT HRAT |

1. 5 o1 orfe 3 uTe & H A8l HeAT |
V. 7RIS TSS9t @iad @7 H el ® sed oAl 3R S9e ARkash @l Al

FHIAT |
yed P I WE IR D gIT PITT ¢
(1) 1 a1 (2) 11 @ I (3) III @ IV 4) 1@ IV

The methods in which the skill and expertise of many teachers is combined to teach a
class is called as :

(1) Panel discussion (2) Team teaching
(3) Group discussion (4) Tutorial method

WA R R qga @ Tt B wiwe R Fger @ @ ot B g @ fan T
e S[eT o SR g, 1 dEen § ?

(1) B=et ==l (2) € =

(3) wigg @l (4) srgfRuerr =i
RTE was implemented in India with effect from :

(1) 1st April 2009 (2) 1st May 2010
(3) 1st May 2009 -~ (4) 1st April 2010
Rrer R T o wrRa § $a @y fear ar ?

(1) 1st 3 2009 (2) 1st A 2010
(3) 1st A 2009 (4) 1st 39« 2010

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(B) P.T.0.
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i3,

80.

81.

82.

83.

MMPI is associated with ?

(1) Intelligence (2) Creativity (3) Personality (4) Mental age
MMPI fbaa | w8 ?

(1) & (2) gorTermar (3) afr (4) "R oy
Mostly Gestaltist theories of learning are based on the idea of ?

(1) concentration (2) Perception

(3) Mediation (4) Introspection

iferepTer TRETeeaTdl I & Rgr ¥ -

(1) gerrar (2) 9w

(3) = | (4) sfeRReror

Culture is not : '

(1) Constant flux (2) Cumulative

(3) Primarily Materialistic (4) Uneven in development
el FrfemRam ¥ & @ T8 @ 7

(1) PR vare (2) werhy

(3) wrrfie wu ¥ Afwamard (4) o™ # xR

Which of the following mobility is not related to modernization ?

(1) Psychic mobility (2) Scientific mobility

(3) Social mobility (4) Physical mobility

T W B TR snyfeeser I w5 2

(1) "Ry TRefrerar (2) =t TRveherr

(3) wrfoa wiferefrerar (4) i wfereferar

Which doesn't belong to the group of the other three ?
(1) Operant Conditioning Theory of Learning

(2) Classical Conditioning Theory of Pavlov

(3) Learning Theory of Watson

(4) Guthrie's Theory of Learning

=i & @ P-w1 oy O @ T @ TS R ?

(1) 3rfermd &1 fFamRg e Rigra

(2) UIgATd BT FARTBIG e Rigr

(3) drcE w1 AT Ry

(4) T @7 iR Rigra

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Education)(SET-Z)/(B)
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84. If Hari is taller than Krishan and Krishan is taller than Gaurav, Hari is the tallest. This
statement comes under which type of reasoning ?
(1) Inductive Reasoning (2) Deductive Reasoning
(3) Linear Reasoning (4) Conditioned Reasoning
% B8R P § a1 8 &R w7 Re F Fa1 § A1 3R wad o © 9% BUH [6d YeR @
qHoT & Il AT ¥

(1) =TS aamon (2) SIMTHATHSG THOT
(3) R qwonm (4) IrgaEfee THoN

85. Critically judge the following :

Assertion (X) : Pleasure or displeasure resulting from a learning experience decides
the degree of its effectiveness.

Reason (R) : All pleasant experiences have a lasting influence and are remembered
for a long-time while the unpleasant ones are soon forgotten.

(1) Both (X) and (R) are correct and (R) is the correct explanation for (X)

(2) Only (R) is correct.

(3) Both (X) and (R) are incorrect.

(4) Both (X) and (R) are correct and (R) is not the correct explanation for (X).
ffaRaa @1 a+ie IR '

@ (X) : WrEs & v | aRFT gF=ar iR =TT SH@! gHrEayel sl g
HAT 2 |

HROT (R) : T @ 3rdl &7 fFIRens y¥1g 81T 8 3R o 9y a6 WRYT fdar ST &
STaf SREE WAl B qRA B el T ST B

(1) (X) @21 (R) &F! |8l & 3R (R) (X) & HET A=A 7 |

(2) dadf (R) FEr |

(3) (X) 3R (R) T Tera £ |

(4) (X) @2 (R) <91 &) & 1= (R) (X) & S8 e 78 2 |

86. The Rorschach Inkblot-Test consists of :
(1) Five black and five coloured cards.
(2) Ten black and ten white cards.
(3) Five black & white and five multicoloured cards.
(4) Ten multicoloured cards.

9T gheTe UKy (Sxe) H @ wmfie ® P
(1) dfer il T Ofg FiF TS |
(2) TH BT TAT TH ADS TS |
(3) UM wT-HHE q Ui dgfae WiE a1e |
(4) =9 9gfay T @re
M.Phil./Ph.D./URS-EE-Nov.-2018/(Education) (SET-Z)/(B) P.T.O.
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87. In the conditioning approach to learning :
(1) The subject should be in readiness to receive the unnatural stimulus.
(2) The unnatural stimulus follows the natural stimulus.
(3) Response to natural stimulus required to be reinforced.
(4) The natural stimulus follows the unnatural stimulus.
3ferTd & Sraer IuTTa #
(1) = Ry sramfies 389w ura o & fore Sar 8 =Ry |
(2) ATIAD ST IS SEUT BT TR BT 2 |
(3) wmuTfdd SEluA @ wfifisar o gedfera @xa @ savgsar ¥
(4) vEamTfde SRIOT SREATIRIS IEGT BT FTHT FRaT B |

88. Kohlar developed :

(1) S-Rbond theory (2) Insight theory
(3) Field theory (4) Conditioning theory
BlgeR 7 fasfRya e -
(1) SR = Rygr (2) g=vRe Rigra
(3) wies Rigr (4) BT Rygrd
89. In Pavlov's experiments on the salivary conditioning of dogs, the CS was :
(1) The taste of food (2) Salivation to the taste of food
(3) The sound of a bell (4) Salivation to the sound of bell
qraeid & yAnT # gl o R uREt A data wanr § sramfie: SfeT qar & ?
(1) W B @E (2) Ao & W@E B 9 AR 9E
(3) TUE B IATATS (4) GvE B A B Uy IR g8
90. Bruner identified three major stages of cognitive growth. Identify the correct order of
the stages.

(1) Symbolic, Iconic, Enactive

(2) Iconic, Symbolic, Enactive

(3) Enactive, Iconic, Symbolic

(4) Symbolic, Enactive, Iconic

TR 7 Heres e & N9 Fewgt geel @ gear o Feffeg § Q) 59 ge@) @
T8l BH BT FIT BT |

(1) werem, sgadiares, Tifaed ($Raf garT w s &1 Braeit 9 gee @)

(2) STUAIHIS, UdihlcHd, YHfded

(3) THfded, srquciires, HeesTcds

(4) wclpreas, UAfded, srqudiercnes,

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(B)
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91. Which of the following schools of philosophy regards education as a means for social
growth and economic production ?

(1) Idealism (2) Realism

(3) Naturalism (4) Marxism

Frefafaa § BH-0 fER arT RBen o amiie RQerd iR e Ao &1 wrE Jmd

34

(1) sresiare (2) TmeldER

(3) wpfaare (4) AradaTS
92. Madhyama Pratipada is a cardinal principle of :

(1) Jainism (2) Buddhism

(3) Vedanta Philosophy (4) Sankhya

FezH gfauaT et e gerpa g 8 ?

(1) 99 =2 @) dg ==

(3) daia geA (4) GrEg g3

93. Life skill education is needed to :
(1) Adopt to one's own culture
(2) Enhance vocational efficiency
(3) Promote cultural integration
(4) Face the challenges in life effectively
e Breret @1 Al fhae fg 2 ?
(1) 3 WPl & SrgagerT
(2) agaTe SR AT T
(3) wiEpfas THar o1 dedl ol
(4) SNaT o AR &1 gaeTe WU ¥ AEAT HRAT

94. In the framework of Sankhya stipulation, which of the following will not be considered
acceptable ?

(1) Prakriti is trigunatmak (2) Prakriti is subtle

(3) Prakriti is directly visible (4) Prakriti is by nature evolutionary
e geF @ uRue # | o e =781 /191 S e 7

(1) Py Frgomers & (2) ol e &

(3) UHfr ucuer wU ¥ ST B (4) wpfa w@raa ¥ RAergas ©

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(B) Pi.E: O
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95.  Which Indian school of thought considers all knowledge as relative ?

(1) Buddhism (2) Vedant (3) Jainism (4) Islam
fFrfefed # @ B0 TR o A R uRT TR T B A0 A ?
(1) drg (2) I=ia (3) =i (4) T

96. Critically judge the following :
Assertion (A) : Marx advocated the creation of a classless society.
Reason (R) : There are toc many classes which are struggling with each other.
(1) Both (A) and (R) are false (2) Both (A) and (R) are true
(3) Only (A) is true (4) Only (R) is true
e smaR et @1 sTeEHTTS qeaieT HIR ¢
BT (A) : 7 7 U TifAE At @) = BT 9 ghTerd @ |
PROT (R) : 95 & a7 & S omoer ¥ WS e wwd ¥ |
(1) =i (A) T (R) 31T & (2) SHET (A) T (R) T &
(3) @I (A) T B | (4) ®9a (R) 9T &

97. Which statement/s is/are true as per Buddhist philosophy ?
L. Maya is root cause of all troubles.

II. Sorrow is the root cause of all troubles.

III. Birth and death are causes of troubles.

IV. Getting involved in worldly pursuits is the cause of all troubles.
(1) AILT,TII, I0I and IV are true

(2) OnlyIandII are true

(3) Only II and III are true

(4) Only II, Il and IV are true

g€ ¢ B FTAR PIA-AT B TE 7

L 9 99l & &Ts 9ry

I ¥ ARl & o §9 @

1. o 3R 97 99Ea9 & BROT &

IV. o TR 37 SR GRS wRersl ¥ forg g &
(1) =1 1,101, 11 @1 IV 9 &

(2) dae 1 Torr I | &

(3) @aa 11 o [l 9 &

(4) aer I, 11 T2 IV &g &
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98. Match the following :

List -1 List - II
(Thinker) (Type of Education)
I. Gandhi 1. Shantiniketan
II. Tagore 2. Integral Yoga
III. Aurbindo 3. Gurukul
IV. Vivekananda 4. Man making education
5. Wardha Scheme
Code:
I I 0o 1v
1y 5 1 2 4
2) 5 1 4 2
3 3 4 2 5
4 4 2 3 5
ferferRac &1 faem @1 -
- 1 - 11
\iGED) " (e & UBR)
I R 1. enfafereas
I. SR 2. AU
1. aRfe= 3. To@d
V. fager= 4. WG 9T dren fem
5. @i Ao
T‘lﬁ%’ i
I I I 1Iv
1 5 1 2 4
2 5 1 4 2
@ 3 4 2 5
4 4 2 3 5

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(B)
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99. The aim of basic education, as per the dream of Gandhiji is to :
i. Create a classless society
II.  Create a Sarvodaya Society
III. Create a society respecting all religions
IV. Create a society where‘a rich and poor can live together
(1) AllL II, IIT and IV are correct
(2) Statements I, II and 11 are cofrect
(3) Statements II, III and IV are correct
(4) Statements I, Il and IV are correct
TN St & |l @ AR g R a1 selvy §
L s qifEs wars &1 fHmfor
. v waiea Tt o1 o
III. w41 &1 BT SER H aTel FATST B FAefor
IV. T T et &1 Fmfor ot o ik g arranr w® a9d
(1) 90 %o I I I a2 IV 98 &
(2) @ad HuE I, 11 qor 111 &) &
(3) @wda HUF II, III dor IV |l §
(4) dad HUT LI 9o IV 98 &

100. 'Individual Differences' are given the least importance in :

(1) Idealism (2) Realism
(3) Naturalism - ~ (4) Pragmatism
fooxy framare # wafeqra A6t o B 7ew TS fRur e ?
(1) e (2) TUTfaTE
(3) wafiarg (4) FIEIRGATIE

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(B)
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1. "Mirambaka'- The school based on ideas of free progress education was advocated

by :
(1) M.K. Gandhi (2) Aurobindo
(3) Vivekanand (4) John Dewey
TaRifgenT ¥eer @1 SuR € wdE R @1 e g8 fowe) ffararr w smaiRa 8 2
(1) w&TeHT TR ' (2) wfa=r
(3) o= (4) < fSfe
2. Who coined the term Cultural capital ?
(1) Bowel and Gintis (2) Bourdieu and passeron
(3) Young (4) McRobbie and Aryon
DR dfdcel Ug T el BT © ?
(1) dfged qar A< (2) drgy TAT UTERTT
(3) 4w | (4) FFRG ToT IR

3. According to Guilford's SI model total number of factors that constitute the human
intellect is :

(1) 60 @) 90

(3) 120 (4) 150

IS @ THo go Afed & IHR AT S &I TS+ &R a1l HRBT B FoA A=
foar Bt 8 ?

(1) 60 2) 90

(3) 120 (4) 150

4. The most fundamental,characteristic of good adjustment is :
(1) A sincere interest in people
(2) A sound and wholesome system of motives and goals
(3) A high degree of acceptance of ones' environment
(4) A keen insight in to means of attaining one's goals
STH FARIGT & a1 AERT AHerero g
(1) & = B
(2) AT TAT Tl B THETI G g JOrTelt
(3) M FIATIRYT BT YOI H/Y A WIHR B DI 3[R
(4) 397 el BT YT HRA @ AR B ufy e siagfe
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5. Use of Media either sequentially or simultaneously in a single communication is

called ............

(1) Computer Assisted Instructions (2) Multimedia instructions
(3) Technology aided instructions (4). Web aided instructions
el HaR § HIf$AT & hAe ferar Gediferd TN B FT Hed & ?
(1) P™Ygex Aggarpd e (2) sg-Mfear e

(3) wrenfre \grar ure e (4) 99 HerET yre e
6. What is guidance ? I

. Helping a person systematically to overcome her difficulties
II. helping an individual to understand herself, her needs, and her environment
[lI. Helping an individual to score more marks in examination

IV. Giving a mild electric shock and activating the brain of a mentally disturbed
person

Choose the correct answer from the given code :

(1) Tand II (2) IIand III (3) Il and IV (4) Tand IV

AT T § 7

I & afdd o U0 gaRerd @1 | WErdaT ST ) 98 0T TERIR Bl ) IR 0O |

1. fo=ll afdq o S Wd @), SH) AEeFHaRl @ R SHd gafaor &7 9ase o
BT BT |

II1. fH¥r BT 31fF 3 Ut By § WERIET HIAT |
IV. AFRAE TS99 a1l Afd &) He fasiel & e oAl iR SHP ARASs @Y afhd

AT |
gd DI WE SR B ggq DI ¢ .
(1) T @em I 2) II dor 111 - (3) III @ IV (4) 1 e IV

7. The methods in which the skill and expertise of many teachers is combined to teach a
class is called as :

(1) Panel discussion (2) Team teaching

(3) Group discussion (4) Tutorial method

Qﬁﬁrf?ﬁfﬁﬂﬂﬁdgd@&mumtﬂ%ﬁﬁﬁﬁ?%&ﬁ@ﬁﬁ%ﬁ%%ﬂ@
wqa%mm%wmm%?

) Uer =l (2) <9 wat
(3) [HE T4l (4) srferor =4t
M.Phil./Ph.D./JURS-EE-Nov.-2018/(Education)(SET-Z)/(C)




10.

11.

12.

RTE was implemented in India with effect from :

(1) 1st April 2009
(3) 1st May 2009

(2) 1st May 2010
(4) 1st Aprii 2010

R feR Affew &1 wrRa # w9 <y fear T ?

(1) ‘1st 31irer 2009
(3) 1st g 2009

MMPI is associated with ?
(1) Intelligence
(3) Personality

MMPI f&as aer gEfag g ?

(1) g«
(3) aafdaq

(2) 1st #g 2010
(4) 1st 3¥ie 2010

(2) Creativity
(4) Mental age

(2) gorTcHSAT
(4) AHRYS 2y

Mostly Gestaltist theories of learning are based on the idea of ?

(1) concentration
(3) Mediation

ferepTer IReTeeard! s & Rigra €

(1) Qeprudr
(3) &=
Culture is not :

(1) Constant flux
(3) Primarily Materialistic

Hepfa FfaRad & & o7 w8 8 2

(1) R warg
(3) wrafAw wu ¥ Hifdeaard

(2) Perception

(4) Introspection

(2) 9
(4) 3feRReror

(2) Cumulative

(4) Uneven in development

Q) dTh
(4) @ ¥ =A™

Which of the following mobility is not related to modernization ?

(1) Psychic mobility
(3) Social mobility

(2) Scientific mobility
(4) Physical mobility

T A BE-) T sgfateRer & et T8 g ?

(1) #=fe wfoeirerar
(3) wMI® Tfereiierdn

(2) Tsnfe fereierar
(4) e foreiremn

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-2)/(C)
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13.  Which doesn't belong to the group of the other three ?
(1) Operant Conditioning Theory of Learning
(2) Classical Conditioning Theory of Pavlov
(3) Learning Theory of Watson
(4) Guthrie's Theory of Learning
o & & -1 ey O @ e o7 e 2
(1) e &1 fohamge e Rigra
(2) UIGET BT FATIDBI I]dherT Rigra
(3) greHT &1 aiferH Rigre
4) T &1 IR Rygra

14. 1If Hari is taller than Krishan and Krishan is taller than Gaurav, Hari is the tallest. This
statement comes under which type of reasoning ?

(1) Inductive Reasoning (2) Deductive Reasoning

(3) Linear Reasoning (4) Conditioned Reasoning

afe BR FoT & a1 & SR w1 IRT § ofdr ¥ a7 R wa o ® 9 BeH b YeR @)
BT & 3fefa 3ar 8 ¢

(1) RIS Taon (2) IIFTHATHS qHUT

(3) Rgw amom (4) IrgEfe qao

15. Critically judge the following :

Assertion (X) : Pleasure or displeasure resulting from a learning experience decides
the degree of its effectiveness.

Reason (R) : All pleasant experiences have a lasting influence and are remembered
for a long-time while the unpleasant ones are soon forgotten.

(1) Both (X) and (R) are correct and (R) is the correct explanation for (X)

(2) Only (R) is correct.

(3) Both (X) and (R) are incorrect.

(4) Both (X) and (R) are correct and (R) is not the correct explanation for (X).

Fr=ferfaa @ wder @R -
ABAT (X) : W & argwa W aRRT gewTar sl sRr=TeT Swa gl S @
FRH B

BT (R) : 1 FEQ IFHAT BT RIS 79 BT & 3R o q9T T TR0T el o

Siefeh IRIEE ATHAT BT GRA A eIl far Wi 2|

(1) (X) @1 (R) &1 |81 € 3R (R) (X) & 98 aran § |

(2) @aer (R) FE 2|

(3) (X) 3R (R) TSI Tord & |

(4) (X) 9 (R) TF1 W8 & weg (R) (X) & 98T aamen 78 ¥
M.Phil./Ph.D./JURS-EE-Nov.-2018/(Education)(SET-Z)/(C)



16. The Rorschach Inkblot-Test consists of :
(1) Five black and five coloured cards.
(2) Ten black and ten white cards.
(3) Five black & white and five multicoloured cards.
(4) Ten multicoloured cards. |

T SHATE GRETT (S¥e) H T e 8 ?
(1) dfa &rel a1 ufg $iE &1S |

(2) TE BT qAT T ABG BT |

(3) dfa wre-awme a1 ufd ggfae e &1 |
(4) <9 Fgfay WA a1

17. In the conditioning approach to learning : ;
(1) The subject should be in readiness to receive the unnatural stimulus.
(2) The unnatural stimulus follows the natural stimulus.
(3) Response to natural stimulus required to be reinforced.
(4) The natural stimulus follows the unnatural stimulus.
A & el U H
(1) =afe fadw sRamIfde SEYT urg & & forg G 8191 912y |
(2) SR@ETIae IETT W@HIfde SEIUT BT ST HRl # |
(3) w@rIfde ST @ ufifhar o gadferg &xa @) maegsddr 2 |
(4) W@PIA® IEUT RATIAS FEITT BT ST ARl © |

18. Kohlar developed :

(1) S-R bond theory (2) Insight theory
(3) Field theory (4) Conditioning theory
Piger 7 f[deiada fdar
(1) S-R ¥is g (2) sTaEe g
(3) wies Rrar (4) BT g

19. InPavlov's experiments on the salivary conditioning of dogs, the CS was :
(1) The taste of food (2) Salivation to the taste of food
(3) The sound of a bell (4) Salivation to the sound of bell
ugeta @ FRIET # gal o @R YRt § ddfta ganT § erarnfde ST @ g ?
(1) IS & Wi (2) IS & WIR B U aR g8
(3) TV BT AT (4) ©UE F AT B ufa AR gEAr

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Education)(SET-Z)/(C) P.T. O
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20. Bruner identified three major stages of cognitive gi‘owth. Identify the correct order of
the stages.
(1) Symbolic, Iconic, Enactive
(2) Iconic, Symbolic, Enactive
(3) Enactive, Iconic, Symbolic
(4) Symbolic, Enactive, Iconic
TR A Aees Qe & dF syt gsTEl B wEE @ FefeRad ¥ & g9 gt @
FE HH BT gaT BT | ‘
(1) YT, Iy Tierer®, vfdea ($at garT ua 519 @7 fraret ¥ yee Goag))
(2) gy ®, wlieprets, vafdeg
(8) vHfded, sHudiaTers, yderas
(4) T®THD, YHfded, srgdiaies,

21. Which of the following schools of philosophy regards education as a means for social
growth and economic production ?

(1) Idealism (2) Realism (3) Nat‘urélism (4) Marxism
Frfefed & a0 e avr Ren &) arifie Rem ok sife Rer o awE T
87
(1) smeeiarg (2) gereiarq (3) wpfaars (4) Ae¥are
22. Madhyama Pratipada is a cardinal principle of :
(1) Jainism ; (2) Buddhism
(3) Vedanta Philosophy (4) Sankhya
#eAT yfueT fhasT e Hen Rigra & 2
(1) S w2+ (2) drg =¥
(3) dgid geH (4) AR=T g9

23. Life skill education is needed to :
(1) Adopt to one's own culture
(2) Enhance vocational efficiency
(3) Promote cultural integration
(4) Face the challenges in life effectively
SaE BN B Maeedr fegs fow & 2
(1) A9 FPT B e
(2) gguEfe @t e\ ar germT
(3) HRGBfA® Vel ST Fgrar 41
(4) STra= & gAIaEr &1 gaaemel 9 § T B

M.Phil/Ph.D./URS-EE-Nov.-2018/(Ed ucation) (SET-Z)/(C)
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24. In the framework of Sankhya stipulation, which of the f ollowing will not be considered
acceptable ?

(1) Prakriti is trigunatmak (2) Prakriti is subtle
(3) Prakriti is directly visible (4) Prakriti is by nature evolutionary
Wi <eF & uiRver § W 9y iRt € A o waar ?
(1) s Frpones & (2) wpiT @ &
(3) UPHI UeT HU W T (4) yply w@mE ¥ Rermas @

25. Which Indian school of thought considers all knowledge as relative ?
(1) Buddhism (2) Vedant (3) Jainism (4) Islam
Frefefag # @ sF- wRdT o1 @) far arT wERe s @Y |ner w2 ?
(1) 9= (2) 9 (3) oI (4) ¥

26. Critically judge the following :
Assertion (A) : Marx advocated the creation of a classless society.
Reason (R) : There are too many classes which are struggling with each other.
(1) Both (A) and (R) are false (2) Both (A) and (R) are true
(3) Only (A) is true (4) Only (R) is true
ffeiRae R TRl &1 srelrar s Jeaidd Sy
HNBAT (A) : AIRT ¥ U THAET THIS B GHT B B geprerd P |
SR (R) : 980 A 7 & S 3y 7 Had a5 wEd 2 |
(1) =i (A) @ (R) 39T & (2) BT (A) g1 (R) 9T &
(3) dad (A) I B (4) dad (R) AT ®

27. Which statement/s is/are true as per Buddhist philosophy ?
[.  Maya is root cause of all troubles.
II. Sorrow is the root cause of all troubles.
ITI. Birth and death are causes of troubles.
IV. Getting involved in worldly pursuits is the cause of all troubles.
(1) AILL I, II and IV are true (2) Only Iand Il are true
(3) Only I and III are true (4) Only II, lIT and IV are true
gg & B ATAR D1 HAT FET R ?
L 3 99iall &1 ST AT &
I ) IRl & & g9 §
[I. 519 3R g FEIH & HROT &
IV. 91 TRIRI &1 RO FERe %maﬁﬁﬁw‘m?w%‘
(1) =1 I 11, IIT @ IV \ed & (2) ®aa [ g1 11 9 &
(3) wad II @ 1 9 & (4) @aer 11, [11 = IV 9 &

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(C) P.T.O.



28. Match the following :

List-1I

(Thinker)
I. Gandhi
II. Tagore

III. Aurbindo
IV. Vivekananda

Code:
I I I
M 5 1 2
2 5 1 4
B 3 4 2
4 4 2 3
fr=feRaa &1 e W:
- 1
(Fereras)
I D
II. &R
I11. eRfe=<=
IV. fadsm=<
ﬁ%’:
I I I
1n 5 1 2
@ 5 1 4
@ 3 4 2
4 4 2 3

IV

I

93}

5

v

4
2
5
5

Wi O

Gr e e g S

List - II

(Type of Education)
Shantiniketan

Integral Yoga

Gurukul

Man making education

Wardha Scheme

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(C)
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29. The aim of basic education, as per the dream of Gandhiji is to :
[.  Create a classless society
II. Create a Sarvodaya Society
III. Create a society respecting all religions
IV. Create a society where a rich and poor can live together
(1) AIlLII, IOI and IV are correct
(2) Statements I, II and III are correct

(3) Statements II, III and IV are correct
(4) Statements I, Il and IV are correct

Y St & |qual & R gFrard Riem &1 SR ®

I & TEH AT &1 iy

II. & @aieyg {ANT &1 famfor

III. |1 AT BT AR BRA el FATS bl FHfor

IV. T& W 9191 &7 fafor o8t e 8k 9 -y <8 9o
(1) & ®F I, I, 1T @r 1V e

2) ®aet ®UF LI 97 [ 98 &

(3) @ad w IL 111 7o IV \e) &

(4) Daa BT I, I 9o IV 98 &

30. 'Individual Differences' are given the least importance in :

(1) Idealism (2) Realism
(3) Naturalism _ (4) Pragmatism
fr farare # afdarg At o o 7ew T8 fear om@r ?
(1) srezfars (2) FerelaTg
(3) wepfaar (4) aERedarars

31. In which area do deaf children tend to show relative inferiority as compared to
general hearing children ?

(1) Socio-emotional development (2) Language development

(3) Personal and social development  (4) Academic progress

frefafea & 9 fow &= § afR g/aal § g7 g aiast @& gomr § anfie € W
S0 &) UgRy Bl 8 ?

(1) HAEITS HTa-TeTd faarT (2) T e

(3) afdmes v WIS fdm (4) deifdrs wgfy

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(C) P.T. O,
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32. The process of socialization is accelerated during adolescence through :
(I) Family orientation (IT) Religious affiliation
(IIT) The school system- (IV) The peer group interaction
(V) Neighbourhood hospitality

Choose the correct set of answers from the following codes :

Codes :

(1) (@), (ID), (I1T) (2) (D), (V), (D

3) (D), (1), (IV) (4) (1), (ID), (V)

fheIRTaRR 5 FHSIERYT @) Ufthar &) fafalRad § 9§ e 7w | gerar faar g 2
(1) ulRaiRe wawrs (1) enfie wrerar

(I11) fererrerr. gomett (IV)Fersa sfa:fran

(V) v HEAMaR

fr=feRaa wre 9 w8t SR AfS

BrS :
(1) (D), (0, (1) (2) (D), V), @)
(3) (@), (), (IV) (4) (IID), (I1), (V)

33. The concept of Pratityasamutpade (that nothing happens without cause) is one of the
central principles of :

(1) Jaininsm (2) Budhism

(3) Vedanta (4) Samkhya

gciegagare (@91 aRv & g @ ufeq T8 2@ ) JeaT Fas s gl 4 4
TH 8 7 ;

(1) >H g+ (2) g€ 34

(3) dar< (4) | g9

- 34. Who suggested that questions are powerful means of triggering thinking and lead
people from "unconscious ignorance to conscious ignorance”

(1) Socrates (2) Chanakya

(3) Plato (4) Aristotle

fras gomr o & ued R & URG R arel [alfte weed | B 8 aT @Rl @l

A ARSI | Wi ARSI B SR Ygd B & 7

1) gaw (2) @ToTERT

(3) el (4) IR
M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(C)
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36.

37.

38.
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Two boys have an IQ of 150. From this it can be concluded that :
(1) Both the boys will be successful in high school and college
(2) These boys have equal mental ages

(3) The parents of both the boys have above average intelligence
(4) None of these can be concluded

31 gD BT 3% F 150 & I8 ey frerern S dwar g fF
(1) SHT I faemer aur AeIfidenead # A%hetal U &l
(2) 37 ATAB] DI ARG Y GRIER 8

(3) < grerdt @ AT-fuar gigaar # ofd ¥ SR &

4) T | B 0 oy |8 78 &

In operant conditioning reinforcement is contingent upon :

(1) Nature of stimulus (2) Nature of response

(3) Both (1) and (2) (4) None of these

fhamRIE arf@me # gAda [ R R @r 8 2

(1) Séww B wpf (2) g @1 upi

(3) (1) @ (2) < (4) ¥ ¥ I T
Solomon's four group design falls under :

(1) Pre-experimental design - . (2) True-experimental design
(3) Quasi Experimental design (4) Factorial design

A &1 IR g Affaey afoaRaa § & feae sfawfa smar 2 2

(1) ool warTTs ffidhed (2) goi wArTETE Afded

(3) 3Ef TS AP (4) FHHAIFOE AfHeT

Error in the findings of an experimental study caused by deliberate selection of some

bright students for experimental group is known as :
(1) Random sampling error ‘ (2) Systematic sampling error

(3) Random measurement error (4) Systematic measurement error

TS W @ fag g 3fE 9ol ¥v Rl o SHggeR 999 e b R By
TV YRS g & el # gfe @1 fFafafaa & 9 fras wu § Smr s ?

(1) agfes ufies Ffe (2) =afua yfoeel Ffe
(3) gl U= Ffe (4) =raRerd w9+ Ffe

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(C) P. T O
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39.

40.

41.

42.

The size of sample for a study mostly depends on :

(1) Gravity of the population

(2) Geographical area of a study

(3) Homogeneity and heterogeneity of the population

(4) Type of Population

sema & forg ufieel a1 sreR wr e F 1 g = AR awar ¥ 2
(1) ST g9

(2) gy @1 HRNfere &=

(3) SEIRY @ ASTIar A1 vy sirfaar

4)

4) IMETE B YBR

Cumulative frequency graph is known as :

(1) Histogram (2) Bar-gram
(3) Pie-gram (4) Ogive
el IRERAT W% BT R Bed & 2

(1) smgafer= (2) T8 A
(3) OIS IR (4) =mfg®Ror

Which of the following is correct explanation about a test ?
(1) Reliability is sufficient

(2) Validity is sufficient

(3) Reliability and validity are not essential

(4) Reliability is essential but not sufficient

frefeRad 4 4 oH-<t e @) o @Rz § 2

(1) R gare 8

(2) faftmm=rar w2

(3) fava=iraeT &R fafdrraar amaeas 78 &

(4) faeariar siffart @ oy uafa =8t &

Difficulty level of items in a test is not a matter of concern in case of tests :

(1) Placement test (2) Intelligence test

(3) Criterion reference test (4) Norm reference test
frefeRea @ wrrer # wgt o7 B wR Riar o vy =8 2 2

(1) s aeror (2) gfg uteor

(3) HIUGUE HEfHa guIeTor (4) ATEm Fafid ger

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(C)
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43. Preparation of test according to test specification/ test blue print mostly enhances :

(1) Reliability _ (2) Content validity
(3) Concurrent validity (4) Construct validity
wWerr 3 fAlre /o qfiic & aguR e & IR [ AEfelRea # g
B ® ¢ |
(1) foeasaar 2) fovgaeg @ fafwmrar
(3) faemm fafmraan (4) == fafm=rar

44. Which test is more likely to reject the null hypothesis ?
(1) Two-tailed test (2) One-tailed test
(3) Both the above (4) None of the above
DH-H W §RT Y IRGAAT B FRET B &7 FIET s 8 ?
(1) SA-gB werr (2) TF-qE e
(3) SWIaT QT (4) SR F W B T

45. Which of the following is not common to experimental and Ex-post Facto designs of
research ?

(1) Cause and Effect relaiionship

(2) Manipulation of independent variable

(3) Controlling extraneous variables

(4) Observation of dependent variable

TARTAG UgH BRfTR My — 99 § F S9-9) 979 a9y 78 8§ ?
(1) HRU-YNG GF=T

(2) Wdd T H Wiwd e

(3) T =i F1 AgE

(4) AT BR BT IATAIHA

46. Which of the following is not a characteristic feature of research process ?

(1) Empirical approach (2) Systematic Endeavour
(3) Uncontrolled conditions (4) Critical analysis
frfafad § & o0 g fo0 oy gfthar @ RRwar &t 8 2

(1) sl surm™ . (2) HHIE YINT

(3) erfaaf3a uRRerfot (4) FHTAETHS fAgeryo

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education) (SET-Z)/(C) P.T.O.
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47. Read the following Statements :
Statement I. Correlation coefficient may be negative as well as positive.
Statement II. Reliability of a test can be negative.
Which of the following is correct ?
(1) StatementIis wrong, but IT is correct.
(2) Both Statements I and II are correct.
(3) Statement Iis correct, but II is wrong.
(4) Both Statements I and II are wrong.
rfaRad weF & ufey
B 1. e Ulih YIS YaH FOMHAB ST 8 Fh ¢ |
ST 11 foell aeror # fawaaraar soneres & wodl 2 |
=1 % [ B BT wE ' ?
(1) ®u= 1 GE 71 fog ®o1 11 98 &
(2) T ®uF I 3R I e &
(3) ®ud 1 WEl & fdg woe 11 e 7&F ©
) <F B I ok 11 w8 T8 &

48. Which of the following is not correctly matched ?
(1) Test-Retest :: Stability
(2) Split-Half :: Internal consistency
(3) KR-20 :: Stability
(4) Parallel Form :: Equivalence
o=t 4 -1 e w8 78§
(1) udieror gauleror = Rerar
(2) @ fzee « offaRe® Srgmye
(3) ®o a0 20 = Rexar
(4) FHMIAN 9THRY : {HHwUAl

49. The variance reflecting a systematic difference between groups of measures is termed -

as .

(1) Total Variance (2) Error Variance

(3) Experimental Variance (4) Within Groups Variance

T8 YR ST el & AHE H aafRed 3ok B e BRAT © ... DEAT & ?
(1) gof URRoT 2) FE wRor

(3) WRARTHSG TRIT (4) T FHE TRl

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(C)



50. The proposition about research that a research would not agree is :
(1) Research improves the quality of teaching.
(2) Research leads to finding solution to too many problems.
(3) Research is only a personnel achievement.
(4) Research contributes to social progress of the society.
e % X P o Tl e w1 el we w8 8 ?
(1) g Refor @ orear § gfeg orar 2 |
(2) I H AHARI HT §A @1 H FeD Bl © |
(3) I AT HAG IuAf 2 |
(4) IFTHET \HNST @ WIS S § AREH <@ § |

51. Spranger's typology is based on man's :

(1) Interests (2) Body structure
(3) Behaviour (4) Attitude

WISR BT YbR s @fed & 5w ger w amenia & ?

(1) wf Q) TR ACFT

(3) ER (4) gRewr

52. Which one of the following conditions qualifies to be an instance of negative
reinforcement ?

(1) Giving a punishment | (2) Withholding a reward
(3) Withdrawing a painful stimulus (4) Excessive rewarding

oo # & B9 g THRIHS GAdAT BT IGERVT & 7

(1) o8 <=1 (2) REHR BT AS A1

(3) TEATF SEUA DI R BRAI | (4) Iraf/d qRER <
53. Law of exercise enables students to :

(1) Diligence (2) Intelligence

(3) Insight (4) Problem solving

T qaR B A Rofi ey

(1) 9Rsm & aad ) gf&

(3) srighe (4) FHT AR &

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(C) P.T.O.
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54. Ivan Illich is known for :

(1) Life Long Learning (2) Life Skill Education
(3) De Schooling Society (4) Distance Education
39 sfera fraa fou g € 2

(1) aofta rferT 2) ST Prra e
(3) SI-T@feiT HKTEA) (4) SXac fRmer

93. Major contribution of Psychology to education lies in :
(1) Defining the goals for which teacher should strive.
(2) Identifying potentially successful methods and procedures for teaching.
(3) Providing scientific foundation for the art of teaching.
(4) Comparing the relative effectiveness of various teaching procedures.
fRrem 7 TrgeIeiol &1 g INEE @ g ? _
(1) S wedi a1 gRfa & R wifts @ forg sramuss &) vy & =1y |
(2) YT B Head wY H Awo At vg ufthamei ) ugee @wAn
(3) oAU Hel & U e MR e &R |
(4) fafaer Aifere gl ) wmdferes yemasfierr @ qemr o |

96. Latent learning is a concept enunciated by :

(1) Hull (2) Piaget
(3) Tolman (4) Skinner
TS AT B HeheuAT BT gRES BT 7 2

(1) & (2) foarey

(3) et 4) R

57. A student of class XII aspires to get 'A' in his school final examination. Which of the

following will best explain his/her motivation ?
(1) Need for affiliation (2) Need for self esteem
(3) Need for actualization (4) Need for achievement

IREdl BET B Vb BIAT U7 G B A qhem § 'A' g 3 anpieh ¥ Fymfala §
A BIF-9] IHS AU BT gy ?

(1) =g B aegsHar (2) SITHAFHT &I ITaTTIDH
(3) Irfife @ arawgHar (4) Syafey &) aravgear

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(C)



58. Defence mechanisms are used by the :
| (1) Ego of a person knowingly (2) Superego of a person knowingly
(3) Id of a person unknowingly (4) Ego of a person unknowingly
e gfkral o1 SuanT fr=ifaRed A @ fvds garn féar s & ?
(1) =R & oy qarT a7 w7 § (2) @fdd & WEd qaRT U w9 §
(3) Ak & 38 QART dad w9 H (4) =afda & oEq ORI Aad wU A
59. A student who fails in an examination makes a complaint that the examiner was
strict. He/she is using a defence mechanism of :
(1) Sublimation | (2) Regression
(3) Rationalization (4) Reaction formation

v et oden ¥ srawd 89 W Rrewd oxar & fo w€ee e O 98 o fed goR
T X1 GRS BT YANT R TET B 2

(1) STl C(2) wfrmA
(3) 3fiforeg U= (4) wfafsrar fHmfor
60. A student suffering from depression and sadness can be classified as :
(1) Sanguine type (2) Phlegmatic
(3) Choleric (4) Melancholic
AR BT Td fa-ATe W UG BIF DI b Faif § 97 W1 Hebar & ?
(1) 3memare (2) *aga
(3) ol | (4) 3
61. Which of the following is a non parametric test ?
(1) Analysis of Covariance (2) Analysis of Variance
(3) Median Test (4) Critical Ratio
1 #  Pre-ar IR grafers wlerr 8 7
(1) FEHRROT gRETor (2) w=Ror farweryor
(3) HegH UReroy \ (4) wifdes AT

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(C) P.T. O.
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62.

63.

64.

65.

C

If the eighth grade students find Mathematics test to be very easy and majority of
them scored high marks, the resulting description would be :

(1) Normal (2) Mesokurtic

(3) Skewed to the left (4) Skewed to the right

afe amedl @en § Hemfeay & vy # fow Ty S @ 9ga W AHIE € R A¥ER
TEH e 3 UTe PR & A1 gRomeerar faavor g

(1) =1 (2) HSlBI®

(3) i &R gt gamr faww (4) SR IR g[@T g fauw

A non-government 0rganiZation conducted a study in a Gram Panchayat to see the
impacts of campaign approach on enrolment and retention of rural elementary school
children. This is an example of :

(1) Descriptive Study | (2) Field Experiment

(3) Ex-post facto research (4) Historical Research

UH R WGN Ao 4 UM dgar § mafie wR @ Qe § 9y uEl @ amied
RE BT % ey (R 78 89 w e Surm & uue @ s B a8 e
ETER & 7

(1) gUHRHS e (2) & Igya

(3) PHATR TR (4) UfceTRie sreT

An experimenter administered a pretest on both experimental and control groups and
found that the pre-test mean scores of the groups differ. Which of the following
statistical techniques can address this difference in studying the impacts of
independent variable ?

(1) Analysis of variance (2) t-test.

(3) Regression analysis (4) Analysis of co-variance

Teh JATThA] | YANTIRS e faEer wg <l @1 gd gderr fhar gen ¥y gar o
g9 ARl @ Ud TSV & AT WIKid N SR ¥ W@dd WX B WU B oeddd ¥ 9 SR
@1 S @ forg FefaRaa § @ fra wiRear wfafy o s fear o wear & ?

(1) a1 &7 fageryor (2) d<x

(3) uferma= fageiyor (4) FEYERO fagaryor

Sampling error cannot be estimated when the researcher employs :

(1) Simple random sampling (2) Stratified random sampling
(3) Systematic sampling (4) Quota sampling

feifefae & 9§ o sraven § uftews Ffe &1 snwer =€ fbar o |war ® ?
(1) W Tgfews yframm (2) wRpa Agfees ufcraa

(3) aRera wfoea= (4) e ufiaga

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Ed ucation)(SET-Z)/(C)



66. Which of the following variables is discrete ?

(1) Achievement (2) Intelligence
(3) Aptitude (4) Attribute
fa=folRed § @ -1 Ry wu 4 o/ad 8 7
(1) Sueifes (2) g
(3) srfagf (4) <egoT
67. The range of coefficient ot correlation between two variables is :
(1) Oto+1 (2) +1to-1
(3) 0to-1 (4) None of the above
3 R b g wEAE $ T B aRER 1§ 7
(1) 0% +1 2) +1 9 -1
3) 09 -1 (4) Sudam # A BIg TE
68. Which of the following falls under Inferential Statistics ?
(1) Arithmetic Mean - (2) Standard Deviation
(3) Harmonic Mean (4) Analysis of Variance
fr=fefad # | dF-a1 ta ngae dikzer & ?
(1) SFHITORIT ARY (2) w1 faEe
(3) BUCHG Ay (4) vRROT @7 faveryor

'69. A researcher wants to study whether discovery learning procedure has an impact on

the motivation of students. In this situation, the variable motivation will be labelled
as:

(1) Intervening variable (2) Independent variable
(3) Dependent variable (4) Extraneous variable

T STHTT IR HRAT diEdl & @ @ion A W 3 ufhar &1 Bl o) SRR W
7 g9 gear & 2 Ul Refy # afiron =) @1 @ den & SR ?

(1) sl =R ' (2) fafa ==
(3) i@ = (4) T =W
M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(C) P.FO:
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70.

71.

2.

73.

74.

When both the variables are dichotomized, correlation is found by using :

(1) rvis (2) rpbis

(3) 1t : (4) phi

W9 THI TR gE Ao 5 T g a ey o9 ond fear o ?
(1) rvis ERT | (2) rpvis RN

(3) rt BRI (4) phi &RT

The nature of cross-sectional study is :

(1) Experimental (2) Developmental

(3) Case study (4) Descriptive

T HRI-HARel ST & Ypfa aar Bl & ?

(1) wrfs ) R

(3) 31T IEITH " (4) auiTHE
Ethnomethodological studies are of the type :

(1) Philosophical research (2) Historical research
(3) Experimental research : (4) Sociological research
gUFTMTSIANae e fhd UhR & seaad B § 7

(1) S+ o (2) Ufrerie e

(3) WIS 2T (4) SATIRTS 2MeT

A research paper is a brief report of research work based on :
(1) Primary Data only (2) Secondary Data only

(3) Both Primary and Secondary Data (4) Just explanation of something
TH WY AR B My @) <t Rard @ €1 ' o emnRa e 2

(1) s & w® 2) feus ea =

3) warfe v fgdfioe &7 w (4) HId AT BT B B

According to Hull, which one of the following will be called a dependent variable ?
(1) Habit strength (2) Drive -

(3) Resistance to Extinction ' (4) Excitatory reaction potential

T B SR FrefoRad ¥ ¥ 5y onfira o) Far SN ?

(1) ened g (2) eidars

(3) fae & ufy TR (4) SIS FRfhaT g

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(C)
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75.

76.

77.

21
A person wants to know whether he will perform well in a particular job. Which of
the following tools will predict this ?
(1) Attitude test  (2) Aptitude test (3) Intelligence test (4) Interest test
TH Afdd T8 AT dnEdr & f @ a1 Rl af¥e JoR # et ueEie @R g ?
9@ forg 5 wakor &1 g féar S =Ry ?

(1) sifighy mhemr  (2) sifiwar oferr(3) gfe T (4) Sfa e

Who advanced the concept of 'creative self as the most essential aspect of one's
personality ?

(1) Allport (2) Adler (3) Freud (4) Jung

ke & Wdiftis 3raedd Uge] @ BY H GOEA® A B JAURCN Bl fbae gaifda
foar o ?

(1) emere (2) TSR (3) WIS (4) S

Educational guidance to the students may be provided through :
(I) Organizing interactive sessions

(Il) Engaging students in co-curricular activities in a meaningful way
(IIT) Promoting sensitivity to others

(IV) Aquenting students with available vocational opportunities
(V) Introducing students to group life situations

Select the correct code :

(1 (@, @), @), (V)

(2) (V), (D), (IL,) (IV)

(3) (1), (1), (V), ()

@ V), @v), @, (1)

Bl & Frfoled § & e mream & e e ve fear s e g ?
(1) ofafirar Rl &1 A &

(I1) e urey AeAl fshar # Smax

(II1) 3= & Ufer HagTerdT &l dgrdl Qb

(IV) STl TaAIIE JaARI H A HRIBR

(V) 9HTE® Sirad &1 aRReIfaa! & aReg a1y

et Prs BT TIFT DI ¢

1 @, dn, av), v)

(2) (V), (1), (L) (IV)

(3) (1), (1), V), ()

4) (V), av), (1), (1)

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Education)(SET-Z)/(C) P.T.O;
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78.

79.

80.

81.

c

As compared to questionnaire, the use of interview as a research tool has advantage
owing to : ' :

(1) its accessibility to personal and sensitive nature of information

(2) its sources of error

(3) its low reliability

(4) the requirement for training of interviewer

| TEAECA! B JTT H AR TS O IUS & wT H ) e Suanfy § 2

(1) \RIhR gRT &fRiTd Yd HagTeial a1 Uiy &1 o Fdba) &
2 B IR B AT E

(3) sHD! fAvga-Nudr &9 &8 |ad! 2|

(4) WETPR BT GRET &) srawgaar B

What is the biggest hurdle in achieving the universalisation of elementary education
in India ?

(1) Scarcity of resources (2) Improper planning

(3) Mindset of the people (4) Population explosion

ARG # Tl & oy aRffres Renm &1 ded ura R # 9 gt 9 @ R ?
(1) \ErEl B FHH (2) orfad AT

(3) @it @ weghy (4) wRRET fveTe

Summative evaluation implies :

(1) Use of daily quizzes (2) Monitoring of learning through homework
(3) Terminal tests (4) Weekly grading of students
ARTTS gl | @ arerd & ?

(1) <@ yeraRar &1y (2) TEHR ERT JAERTH BT 3gs7aor
(3) 3mafers gderor (4) BE & ATARd R IR

The Study of Philosophy should be considered important for the prospective teachers
because :

(1) Philosophy gives broader perspective of educational issues and concepts.

(2) Philosophy helps in making a wise person.

(3) Philosophy brings clarity in educational concepts.

(4) Philosophy provides framework for viewing educational problems in true

perspective.
2 e BT g WY srue! & fo wEwaqel 99 ST & it
(1) =2 o= Afére Fqel ok srquRomel & IR F favga gRved ye war ¥ |
(2) & I US feeiel 7= e # A HRar 2
(3) <= wmen Afdre srauRoTel § vawedr o 2|
(4) TE9 T dfere ARl @7 WE aRUey § @ &7 AT SueTer BRI |

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(C)
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In Jain Epistemology which one is the basis of true knowledge ?

(1) Inductive reasoning (2) Deductive reasoning
(3) Dialectic reasoning (4) Naya based reasoning
S AT AE BT TS AR R R ?

(1) IMTHATHS Th (2) s 9@

(3) TaeTHE TH | (4) Y7 amRa q% ‘

The great sociologist who held the view that "education doesn't bring about social
change; rather the social change results into an educational change" was :

(1) McDougal (2) Aristotle

(3) Durkheim (4) Dewey

98 GHISIEIRAT B9 & Sl AT & B ﬁmwmwﬁaﬁ?ﬁaﬁﬁaﬁqwmﬁm
aRed e gaci= § alRforg gar 2 ?

(1) HrgT (2) o

(3) guif= (4) R

Which of the following is not a factor for social change in India ?
(1) Caste : (2) Regionalism

(3) Language (4) Census

B 3 W BI-9T BRS IR 3 ARG TREET BT FRE T & ?
(1) wify 2) afarg

(3) wruT (4) STOTET

Equality of Educational opportunities is possible in India by :

(1) Extending portals of educational institutions to all without any discrimination
(2) Opening more educational institutions

(3) Privatizing the education system in the country

(4) Public funding of Education

ARA H e # A DY H9E § 7

(1) fa=7 fpeft wev & e SRl & garT o) @ forg e

(2) dR e Afare FReM @rerr

(3) <= # fRrem yomed &1 fAsiexer &=

(4) Rrem &1 dArefadieTor

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(C) ' P.T.O.
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86.

87.

__C
Role conflict and issues of collaboration are most relevant to which of the following
disciplines ?

(1) Cultural Anthropology

(2) Educational Sociology

(3) Politics and Education

(4) Value based Education

qfrT a ¥ ok [EArT B T AR ¥ i B & Ry e e § 2

(1) ARpis Jasm

(2) ferd FHSTIRA

(3) rorifa 8w fererm

(4) g smenfRa e

What is the view of Educational Sociologists on Character Education ?

(1) Character Education is the exclusive province of the home and religious

organizations.

(2) Character Education is impossible without religious and denominational

doctrine.

(3) Character Education is best handled by giving the target readymade judgments.

(4) Character Education should involve the direct discussion of moral issues.

. 3mervr fBren F dfdre waroreReat o1 o 79 g 7

(1) 3meRYT e w3 o R aiffe eHl o1 &89 2|
(2) <maRvr fRen o eifife v |me¥e Rgral & &9 &ar s ofha B

(3) MERYT RIET B W & Q e @ g ot @’ B 9 99 ok Ry oy
AR |

(4) asmeror e ¥ Afte ol W gwuer T4t g ARy |

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(C)
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"Investment in Education is the single, largest item of expenditure, next to defense, in
many countries today” What is the social justification ?
I.  Education has become a pressing need under globalization.
II. Education is the Panacea for social ills.
III. Education produces unselfish and competent leaders for establishing polity.
IV. Education helps to procure security, prosperity and social well-being for all.

Choose the correct answer from the given codes:

Codes:
(1) Iand III are correct (2) II and IV are correct
(3) Tand II are correct (4) II and IV are correct

Pg QU H T &F D 95 R0e &7 H 9w ) e g9 7T 2 sl gmifie ife @
B2

L dedieror & e R o) fdsrasgs anT 8 T8 B |
1. e wrfore qRsal & g v @ fag e 2
II1. f3rem <roras @ forg aranedt g gwel war g4 €

V. Rem 90 & forg gRem d9fE iR amifvre 57 @1 e # 981as skl 2
Pre A FE SR FT TIT DI

B
(1) 1 @ I a8 § ) 11 @ IV a8 &
(3) 1 @erm II &8I & (4) III oI IV 92T &

Education as fundamental duty of parents and guardians was inserted in Article 51 A
of the Indian constitution by :

(1) 44th Amendment (8) 86th Amendment
(3) 74th Amendment (4) 42nd Amendment

IRd @ GYM & awe 51 A ¥ e o1 Aa-fiar iR sfves! & difas ada & wa
H fpa doee & garT affera e mar ?

(1) 444f e (8) 86dT A
(3) 744t AR (4) 4247 Henud

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(C) P.T.O.
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80. Religion is an institution because :
(1) It teaches religion to people.
(2) It discharges an important social function.
(3) Itimparts moral and spiritual education to people.
(4) It gives respect to the individual in society.
U U TR § i
(1) ¥8 & @ g4 Ry 2|
(2) I8 e Aew@yel AMITE S HRar § |
(3) TE &AM @Y Afdd iR aifife RBer uem wRar g |
(4) TE FHN H Afdd BT THE USH Bl © |

91. Internship programme of teacher education has a basic objective to orient a teacher to :

(1) Content courses (2) Practical courses
(3) Complete school environment (4) Research courses
srearas R o Rifde] FRisy & el Seed 81a1 © 8 ardl RIefd &1 gar ¢
(1) fawgawg dregsH (2) FIEIR® UTGHUHA
(3) \yol fRemer ararere (4) TIAU UTGTHA

92. Inclusive education refers to :
(1) Special teaching to differently abled children
(2) Sarva Shiksha Abhiyan
(3) Equal educational opportunities to different types of children
(4) Special education in special schools
e e < i @
(1) fafy= el & fog a9y Regor
(2) |4 e s
(3) W TRE & et & forg ve a9 Rren &1 sraweR
(4) foo vt ¥ fe R

93. Which of the following is not a kind of leadership ?

(1) Charismatic leadership (2) Formal or situational leadership
(3) Functional leadership (4) Mass leadership

=1 % F D91 @ P TPR Tl © 7

(1) IHN e (2) ofweRe v Refowes g

(3) wpTEfeD g (4) WP g

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(C)
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94. Which of the following can be most effective leadership styles in a country like India ?

(1) Autocratic (2) Democratic

(3) Laissez faire (4) None of the above
1 # & BF-a1 g ARG O <9 A a8 W @ 2

(1) Twa=g _ R ICaER

(3) T (4) SR H q BIg T

95. The related literature helps in identification of research problem as it helps in :
L. Identifying consistency among the findings of various researches
[I. Identifying inconsistencies among the findings of various researches
IIl. Identifying gaps in research
IV. Stating the statement of the research problem
Answer with the help of code
(1) TandII are true (2) I, IIand III are true
(3) Tand 1V are true (4) I 1II, T and IV are true
S R e e B g e F wEra A & iy
I A= wereiel & 7eg Wil @ ggem wRar 2
1L faf= eesiell & weg Rl @ vgar a=ar 2
[IL. =y =19 # Rkt &1 ggam oear 2
IV. 2 %7 WeHe gaT B
DS B AR TR IR QRT -
(1) 1qarII 9er & (2) 1,11 ger 111 98! &
(3) I adar IV w&r € (4) 1,11, TII qor IV @& &

96. Keeping degrees of freedom constant with the increase in level of significance the
standard Table values are found to :

(1) Increase (2) Decrease

(3) Remain unchanged (4) Have no fixed trend

@A e BT ReR vEd gy weiwar w9 A gy ot @ ve wid weol @t e
(1) dgar g (2) wear g

(3) sRaffT vear & (@) @ P gt = A

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(C) P.T. 0.
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97. Attitude towards teaching profession is considered to be measured on :

(1) Nominal scale (2) Ordinal scale

(3) Interval scale _ (4) Ratio scale

Rieror sgawms & ufy afgf o1 7w A7 By @

(1) *fipa AT o) (2) ®HAF AT W
(3) ST 7O 4R (4) Srguifdes 9= o®

98. Analysis of variance can be used if the measurement is on :
(1) Nominal scale and interval scale
(2) Ordinal scale and Ratio scale
(3) Interval scale and ordinal scale
(4) Interval scale and Ratio scale
TRV BT fA%ervor &7 SuAnT T fRar S Aedr & R & @7 A9 ... W B
(1) @iieha ATY=T Ta SFRTT H9=
(2) T TR T ST A
(3) SfaNTeT AT UG hffe AT
(4) STaRTe ATl UG SruTfiis ATI

99. Which type of sampling method does not fall under the category of probability

sampling ?
(1) Random sampling (2) Stratified Random sampling
(3) Multistage sampling (4) Sequential sampling
fods TR B =reet Y werem wrest R & ofoefa =8 amy ?
(1) zgfes fafr (2) wNipa agles fafy
(3) vgwRIg =Y fafyr . (4) wHTTa wgTeet fafyr
100. Which of the following types of test items would result in wide range of scores ?
(1) Too easy (2) Too difficult
(3) Average difficult (4) Combination (1) & (2) above
Frfaled # & f5a yor @ oferor 7€t § ofdt & s ¥ Bl
(1) 9ga = (2) 95 BfeT
(3) g Bfeq : (4) SuRfiRad (1) Tom (2) &1 TR

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(C)
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The Study of Philosophy should be considered important for the prospective teachers
because :

(1) Philosophy gives broader perspective of educational issues and concepts.
(2) Philosophy helps in making a wise person.
(3) Philosophy brings clarity in educational concepts.

(4) Philosophy provides framework for viewing educational problems in true
perspective.

SR WA BT eI 9T AR B Ay Wewayel & o & i

(1) <R wres At FRl iR srauRonsi & ar ¥ fga aRded g ovar |
(2) <2 W U RAdweie w99 § 78T BT

(3) e v e arguRomel § wear oy 2

(4) <= TR e el B e gRley ¥ @ BT St Suder R 2 |

In Jain Epistemology which one is the basis of true knowledge ?

+ (1) Inductive reasoning (2) Deductive reasoning
(3) Dialectic reasoning (4) Naya based reasoning
O IR TE S BT 0B AR @y R ?

(1) SIFTHATHB T (2) TS I
(3) HETHS @ 4) 1 amenla aa

The great sociologist who held the view that "education doesn't bring about social
change; rather the social change results into an educational change” was :

(1) McDougal (2) Aristotle

(3) Durkheim (4) Dewey

T8 AT B T O A 8 3 Rem wmivie aRadw € ) g amnfie
uRac e gady # aRferg g & 2

(1) Aagrer (2) s=%q

(3) 3@ (4) ffa

Which of the following is not a factor for social change in India ?
(1) Caste (2) Regionalism

(3) Language (4) Census

=1 7 4 BIF-1 RS IR F il uReds BT eRe TE & 2
(1) < (2) afgarg

(3) ST (4) STRTOTT
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5. Equality of Educational opportunities is possible in India by :
(1) Extending portals of educational institutions to all without any discrimination
(2) Opening more educational institutions
(3) Privatizing the education system in the country
(4) Public funding of Education
qRa H Rer § FHEar 8 99 § 7
1) e fo=f e & v weurt & @R W @ Y @eT
) 3R fre Nfeye dxt e
(3) <1 H f¥rer yomel &1 SR Bl
(4) T &1 ArBIAIHROT

6. Role conflict and issues of collaboration are most relevant to which of the following
disciplines ?

(1) Cultural Anthropology (2) Educational Sociology

(3) Politics and Education - (4) Value based Education

e o % AR wEAT & R Pl F R fun @ g el W 2
(1) wivpfid A= (2) Hfdre ISR |

(3) oI SfR et (4) T emenlRa fRrer

7. What is the view of Educational Sociologists on Character Education ?

(1) Character Education is the exclusive province of the home and religious
organizations.

(2) Character Education is impossible without religious and denominational
doctrine.

(3) Character Education is best handled by giving the target readymade judgments.

(4) Character Education should involve the direct discussion of moral issues.

araRor e ¥ e wAToTenEal &7 e W ® 7

(1) ameRor e wm ex iR anfife dTeHl &1 &ax 2|

(2) SmeRvT e @1 e vd wiverie Rigrat @ fam R 9T oRivd B |

(3) STEROT P @) W @ ¥ fuey @ fory wftre afdat @1 e a9 ol Ry o

EIEN

(4) oTreRYT e # A wwvael W ywge ==l gkl aTe] |

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(D) |
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8. "Investment in Education is the single, largest item of expenditure, next to defense, in
many countries today" What is the social justification ?
L. Education has become a pressing need under globalization.
II. Education is the Panacea for social ills.
IIl. Education produces unselfish and competent leaders for establishing polity.

IV. Education helps to procure security, prosperity and social well-being for all.

Choose the correct answer from the given codes:

Codes:

(1) Iand II are correct | (2) I and IV are correct

(3) Iand II are correct (4) III and IV are correct

®g QU A T 87 B 9g Brm a5 § R §) te g9 58§ s aiee <ife @
g7

I 9o & ol e @ fenaegs #i & 78 2|

1. Rrem amifoe gRsdl & R & & forg v 2

111 fRrem vrorc= & forg aramedt ud wwef war aorh €

IV. Riem ot & foq qRen Wiy iR i w@er &Y Sier ¥ wee g 2 |
DI H GET IR BT FAF P ¢

DIE
(1) 1 <o T &g & | (2) T qor IV & &
(3) 1 e II 3 & (4) III T IV W&l &

9. Education as fundamental duty of parents and guardians was inserted in Article 51 A
of the Indian constitution by :

(1) 44th Amendment (8) 86th Amendment

(3) 74th Amendment (4) 42nd Amendment

YRA & AR & orgeas 51 A ¥ fen & Ara-far ok sfvrast @ \ifee axa @ Wy

¥ e WO B a7 A T ?

(1) 4437 HoeH (8) 86df HeMerT

(3) 74dr 9 (4) 42df Hene
M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(D) P.T.O.



10. Religion is an institution because :
(1) It teaches religion to people.
(2) It discharges an important social function.
(3) Itimparts moral and spiritual education to people.
(4) It gives respect to the individual in society.
L U HLefT g Fqifd
(1) T8 |@r 31 g9 Rarar € |
(2) T8 UH Hewayol ArIfere B Rl & |
(3) TE A @t Afde 3R enfie fer ue™ oxar g
(4) TE FATST ¥ aafdd &7 W UGS oRal © |

11. In which area do deaf children tend to show relative inferiority as compared to
general hearing children ? '

(1) Socio-emotional development (2) Language development
(3) Personal and social development  (4) Academic progress

frefoRea % @ f59 &3 # IR gt § g a9 arad] @) e d gufée € we
< @7 yghy Bl & ?

(1) ATIfSTS AEaTHS [AHRT (2) wmsT fa@wma
(3) Jufxre vd T faer (4) Seafdre yaiy
12. The process of socialization is accelerated during adolescence through :
(I) Family orientation (IT) Religious affiliation
(I1I) The school system (IV) The peer group interaction

(V) Neighbourhood hospitality

Choose the correct set of answers from the following codes :

Codes:

(1) @, 1D, dn) ) D, V), [ (3) (@), (), av) (@ (1), D, (V)
fereiraven § wACNGRor @ ufhar @1 fr=ifoRad # @ feae Argy @ ggrar fewr & ?

(1) wiRaRe games | (I1) enfie FraeeraT
(IIT) farererg woTredt (AV)ferse i
(V) T8I AgHER!

fr=forRad @ | W8T IR <IN ¢

PIE :

(1) (@), (II), (1II) (2) (1), (V), @) (3) (I), (IID), (IV) (4) (1), 1), (V)
M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(D)
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13. The concept of Pratityasamutpade (that nothing happens without cause) is one of the
central principles of :

(1) Jaininsm (2) Budhism

(3) Vedanta (4) Samkhya

ydieavre (A1 R & @ @) afea T8 ) & dee Fae sy g 3 4
U B ?

(1) o9 geH 2) g& T

(3) daT=a (4) A= g eE

14. Who suggested that questions are powerful means of triggering thinking and lead
people from "unconscious ignorance to conscious ignorance"

(1) Socrates (2) Chanakya

(3) Plato (4) Aristotle

e gemm o7 & e fRiaw a1 IR o arel waife aved AEE 81 € a arn @
3rAd IS I AT AAHSAT D AR YIT IR 7 7

(1) g (2) amTE

(3) wier (4) e

15. Two boys have an IQ of 150. From this it can be concluded that :
(1) Both the boys will be successful in high school and college
(2) These boys have equal mental ages
(3) The parents of both the boys have above average intelligence
(4) None of these can be concluded
Tl gTAd] BT TS Fg 150 ® 7 foepd Faren o1 wadn @ &
(1) sFI ares fAemer den weifderery # Thaar Ui oy
(2) 39 DI B ARG ATY TRIR 7
(3) aHI el & A-fan gigwar #§ o | FwR €
(4) 3T ¥ o1 f ey w8 T '

16. In operant conditioning reinforcement is-contingent upon :

(1) Nature of stimulus (2) Nature of respbnse
(3) Both (1) and (2) (4) None of these
fepaTuga agae § gAde by iR R @war g ?

(1) SEUS B YPfa (2) efshan & udfa
(3) (1) 7o (2) 2 (4) T B T

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(D) B L



17. Solomon's four group design falls under :

(1) Pre-expeﬁmental design (2) True-experimental design
(3) Quasi Experimental design (4) Factorial design

AT BT IR G Aoy fF=fafad § & e sfara amar g ?

(1) 30T ARG AfH (2) T TRARTHS AfAdH

(3) I g A (4) PEYOE 3D

18. Error in the findings of an experimental study caused by deliberate selection of some
bright students for experimental group is known as :

(1) Random sampling error (2) Systematic sampling error

(3) Random measurement error (4) Systematic measurement error

RIS e & o dlg gfe arel @B [AenRl 3 SHaEeR 9ad a7 & DR B
T YIRS 3egdq @ [rpui 7 Ffe a1 fr=fefad d & fede w9 d =7 S ?

(1) ugfees ufiee Ffe (2) emaRerd ufoeet Ffe
(3) . gRe® #1949 Fie (4) =aRerd #mas Ffe

19. The size of sample for a study mostly depends on :

(1) Gravity of the population

(2) Geographical area of a study

(3) Homogeneity and heterogeneity of the population

(4) Type of Population

Fegge o foq ufredl a1 e g FEfefad 4 ¥ fow ) ik svar g 2
(1) SE=dn g9

(2) 3T BT HRNTH &

(3) METE @ Forahgar a7 favy Sdian

(4) JIMEE D UBR

20. Cumulative frequency graph is known as :
(1) Histogram (2) Bar-gram
(3) Pie-gram (4) Ogive
FerRf) SRFERAT YT BN T HEd & 7
(1) Mt (2) TUS AT
(3) urg IRE (4) =mafde<or

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(D)



21. Which of the following is a non parametric test ?

(1) Analysis of Covariance (2) Analysis of Variance
(3) Median Test (4) Critical Ratio

=1 % 9§ -1 IR yrafers qderor § ?

(1) FBYEROT TRIeqor (2) wavor fagersor

(3) AemH ey (4) wifde U

22. 1If the eighth grade students find Mathematics test to be very easy and majority of
them scored high marks, the resulting description would be :

(1) Normal (2) Mesokurtic

(3) Skewed to the left (4) Skewed to the right
aﬁamﬁmmﬁﬁaﬁ%w%ﬁwﬁ%qwéwdﬁagﬁmqmﬂﬁ%aﬁqaﬁﬁmm
IHH TS IF YT PN & o IRomHGaT Rawer 2n

(1) A= (2) AMBIRD

(3) 9l 3R SI@T gorm fawH (4) =R IR g7 8T fAwH

23. A non-government organization conducted a study in a Gram Panchayat to see the

impacts of campaign approach on enrolment and retention of rural elementary school
children. This is an example of :

(1) Descriptive Study (2) Field Experiment

(3) Ex-post facto research (4) Historical Research

U TR ARPR W1eT = I G A yiefiie wR @ Qaremt ¥ 97 oEl & amieT g
A BE @ [duey ik 98 89 W afaH U @ TME @1 R fRaT g et

JEERT & ?
(1) IUFTHS eI (2) & I+
(3) BRRR IrTHE (4) faeRie srgeder

24. An experimenter administered a pretest on both experimental and control groups and
found that the pre-test mean scores of the groups differ. Which of the following
statistical techniques can address this difference in studying the impacts of
independent variable ?

(1) Analysis of variance (2) t-test

(3) Regression analysis (4) Analysis of co-variance

UH FARTHAl - FANTIRS Vaq FeEor wg <Ml o1 qd uderor fsar qen aw gar erar b
T O @ Qd Uk B WRY WIKiin ¥ SR & Yadd uel B WA B e ¥ 3 af}
B W & forg Frafafaa & & few wifereta ufafy &1 soanT fsar s gear & 2

(1) gaR91 &7 fawersor | (2) T
(3) ufermae faweryor (4) FTEYTRYT fageryur
M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(D) P.T.O.




25.

26.

27

28.

29.

Sampling error cannot be estimated when the researcher employs :

(1) Simple random sampling (2) Stratified random sampling
(3) Systematic sampling (4) Quota sampling

fr=fafaa # & forst araxen § uftmgs FR @1 e 781 fan < wear & 7
(1) w=at Tgfes gfaaa 2) wRIGa AGBDH Ulaad

(3) =aRerT gftags (4) Prer gfraad

Which of the following variables is discrete ?

(1) Achievement (2) Intelligence

(3) Aptitude (4) Attribute

frfoRen § & oF-a1 fdy w9 9 eraad & 7 ’
(1) S @ g&

(3) gy (4) o

The range of coefficient of correlation between two variables is :
(1) Oto+1 (2) +1to-1

(3) Oto-1 (4) None of the above

T R B AEEE B 0e & uReER @1 8 ?

(1) 09 +1 (2) +1 9 -1

(3) 09 -1 4)m§aﬁﬁ®aﬂs‘ﬂﬁ
Which of the following falls under Inferential Statistics ?

(1) Arithmetic Mean (2) Standard Deviation

(3) Harmonic Mean (4) Analysis of Variance
frefoled & I wiF-a1 va ngAife [ilRera! 8 2

(1) SfeTiorRia e (2) 7S feae

(3) BIHD ARA (4) TERoT FT faweryor

A researcher wants to study whether discovery learning procedure has an impact on

the motivation of students. In this situation, the variable motivation will be labelled
as:

(1) Intervening variable (2) Independent variable

(3) Dependent variable (4) Extraneous variable

T TG ISR ST IRl & @ @ien A Wres @ uftsar @1 BEl @l SRReT W)
T yTg gear & ? U Reify # aiftRor @R a1 @ar wsm & SR ?

(1) swEd = , ) e ==

(3) e =R (4) g =

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Education)(SET-Z)/(D)



30.

31.

32.

33.

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(D)

When both the variables are dichotomized, correlation is found by using :

(1) ruis (2) rpbis

(3) (4) Pphi

S SHT IR gas WIS [ TY Bl O AewE B 9 [$ar S ?

(1) rvis 8T (2) rpvis NI

@) e Ew (4) phi BT

Internship programme of teacher education has a basic objective to orient a teacher to :
(1) Content courses : "~ (2) Practical courses

(3) Complete school environment (4) Research courses

srearae Rt @ Ride] sriwd & el Sevg B 8 B aret Rietd @) §ar
(1) favewg ureushA (2) IIBIRSE UIGTH

(3) <ol fdemerdy aramawor (4) ITTHYTH ITGIHH

Inclusive education refers to :
(1) Special teaching to differently abled children
(2) Sarva Shiksha Abhiyan

(3) Equal educational opportunities to different types of children
(4) Special education in special schools

gacqrera e & s 2

(1) faf= feenfal & forg faey Reor

(2) wa e fae

(3) vt e @& fRefeial & fov v v f¥en &1 s
(4) e vt F Rdy R

Which of the following is not a kind of leadership ?
(1) Charismatic leadership

(2) Formal or situational leadership

(3) Functional leadership

(4) Mass leadership

71 % | P91 7T © UBR T8 8 7

(1) TN g

(2) g=Re vd Rufdwrs Aga

(3) YHATHE -

(4) wfee A

A
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34. Which of the following can be most effective leadership styles in a country like India.?

(1) Autocratic (2) Democratic

(3) Laissez faire (4) None of the above
frer § QA SF-11 g HRA S I H gMraerel 8 Fdhal 8 7
OREEIR (2) B

(3) araverdT (4) SWRITd # H Iy 7ol

35. The related literature helps in identification of research problem as it helps in :

I. Identifying consistency among the findings of various researches

II. Identifying inconsistencies among the findings of various researches
III. Identifying gaps in research

IV. Stating the statement of the research problem

Answer with the help of code

(1) Tand Il are true (2) I, II and III are true

(3) Iand IV are true (4) I, 1L 1II and IV are true
e R g R @ T ] wEw BT § aiifs

I = shuaiel & wer il @) geEr @y 8 |

1. fafr uediel & weg Refoa @ ggar o & |

I @y == 3 Rfgaal &1 gear b 2 |

IV. ¥y 37 ReHe Il & |

PIS P IMUR W IR QUMY -
(1) 1 qr I 921 8 (2) I, 11 o 111 |8 8
(3) 1 erm IV W&l € : (4) 1,1, 111 &r IV @ 8

36. Keeping degrees of freedom constant with the increase in level of significance the
standard Table values are found to :

(1) Increase (2) Decrease

(3) Remain unchanged (4) Have no fixed trend

wets e B Rer <wd ¢ wiear 99 # gig Bl © U@ YA Rol &l e
(1) vear 8 (2) wear ?

(3) smRaffa & & 4) »1$ FRga ygir 96 B

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Education)(SET-Z)/(D)
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37.

38.

39.

40.

11

Attitude towards teaching profession is considered to be measured on :

(1) Nominal scale (2) Ordinal scale

(3) Interval scale (4) Ratio scale
fReor eI & gfad sifWgir @1 A9= /= g ©

(1) awifepa A w | (2) HfAE AU W)
(3) SPcRTT HUHl TR (4) SrguIfties AU UR

Analysis of variance can be used if the measurement is on:

(1) Nominal scale and interval scale

(2) Ordinal scale and Ratio scale

(3) Interval scale and ordinal scale

(4) Interval scale and Ratio scale

TERT T Ieesvr &7 SUART O faraT S a8 SR &7 BT AT L. TR B
(1) weife Ao T sfarer AOE

(2) ¥ AU Y AuTice HOH!

(3) *faRTeT AU Ud hiAe ATOH]

(4) 3fERTS AUl Vg Jurfcid A

Which type of sampling method does not fall under the category of probability
sampling ?

(1) Random sampling (2) Stratified Random sampling

(3) Multistage sampling (4) Sequential sampling

frer gpR & ~aree R waren wrasf Ry @ siaid =€l and ?

(1) agfees fa (2) WRIHa Argfos fafd

(3) sgwg ey Ay (4) AT RISy fafer

Which of the following types of test items would result in wide range of scores ?
(1) Too easy (2) Too difficult

(3) Average difficult (4) Combination (1) & (2) above
fr=faad & & 5 yeR & oderer 91 A il B @vs I B

(1) 9§ T ©(2) TET FfeA

(3) 3frAd wfed (4) SuRfefd (1) dem (2) &1 REIDINE|

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(D) P.T.O:
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41.

42,

43.

44,

45.

Spranger's typology is based on man's :

(1) Interests (2) Body structure
(3) Behaviour ' (4) Attitude
BioR @1 ypR s afdd & 69 g ) smRa g ?

(1) =fy (2) IRR EGAT
(3) @IER (4) gfeam

Which one of the following conditions qualifies to be an instance of negative
reinforcement ?

(1) Givinga punishment (2) Withholding a reward

(3) Withdrawing a painful stimulus (4) Excessive rewarding

frfofea § @ FI9-0 ge TERES gTdT BT SETER B ?

(1) TS ST (2) REHR DI A AT

(3) TEAE TEUF B G BIAT (4) s gRHR &

Law of exercise enables students to :

(1) Diligence (2) Intelligence (3) Insight _(4) Problem solving
ara ARy uEl # e gl g

(1) uRem & amgd (2) gf& (3) er=igfe (4) AR TARTT &TAT
Ivan Illich is known for :

(1) Life Long Learning ' (2) Life Skill Education

(3) De Schooling Society (4) Distance Education

$a9 sfera fedas foy fawm © 2

(1) fshas e (2) Shas Brere e

(3) S-wwRfei ARATSE (4) gxac fRrem

Major contribution of Psychology to education lies in :

(1) Defining the goals for which teacher should strive.

(2) Identifying potentially successful methods and procedures for teaching.
(3) Providing scientific foundation for the art of teaching.

(4) Comparing the relative effectiveness of various teaching procedures.

f¥1err ¥ AgPIeron 1 T&F AN 1§ 2

(1) S9 el &1 gRa a1 RSee wiftq & {3y srame a1 g & 912y |
(2) AT @) FIGT BU H A% [AfSAT vd gihamstl & ugard wA |

(3) SEATUH HeAT b Ty IS SMER UG AT |

(4) fafaw Qferes ufdbarel o Anfee g9raeiedr & e e |

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(D)



46. Latent learning is a concept enunciated by :

(1) Hull (2) Piaget
(3) Tolman (4) Skinner
U AT & Hhod-1 &1 URuTe®d &IF & ?

(1) & 2) fagms

(3) <rer (4) R

47. A student of class XII aspires to get 'A" in his schooi final examination. Which of the

following will best explain his/her motivation ?

(1) Need for affiliation (2) Need for self esteem

(3) Need for actualizatior (4) Need for achievement

JREG] PHEIT B [P BIAT 9 Ihadd Dl dli¥es uel 7 A’ g @) el 8 MfalRad |
H BIF-A1 D AMAUIOT BT SR ?

(1) FHEGAT DI AT (2) SICHARIT B ATALID]

(3) acAaRiafEg @ ArgTadar (4) SUAf)T @l Mgy

48. Defence mechanisms are used by the: ,
(1) Ego of a person knowingly (2) Superego of a person knowingly
(3) Id of a person unknowingly (4) Ego of a person unknowingly
< Rt 7 ST PR ¥ W Rewe qarT Rear o & ?
(1) =fdT & EH TaRT I+ By A (2) afdd & UsH gaRT dd- wy H
(3) =fad & 3 GRT ATH w9 A (4) =afdy & @Y AR T B9 F
49. A student who fails in an examination makes a complaint that the examiner was
strict. He/she is using a defence mechanism of :
(1) Sublimation (2) Regression
(3) Rationalization (4) Reaction formation

U faemeft ufem § rawa B8 W Frerd o € 6 Wge W O I8 o 6 R
®) e YR BT YT B B[ & 7

(1) ST (2) wferra
(3) siiferer v (4) wfafssar fHmTor
M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(D) P.T.O.
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50. A student suffering from depression and sadness can be classified as :

(1) Sanguine type (2) Phlegmatic
(3) Choleric (4) Melancholic
RIS BATY U9 3ra¥Te & U%d BIF &I fhg Aait § 3@ &1 A & ?
(1) smerraray (2) W
(3) I (4) &0
51. Cultureis not:
(1) Constant flux | (2) Cumulative
(3) Primarily Materialistic (4) Uneven in development
<y Frefeifed § 4 @ T8 @ ?
(1) PRI gars (2) FTH
(3) wrerfid wg ¥ Hifdadara) (4) fawra # s
52. Which of the following mobility is not related to modernization ?
(1) Psychic mobility : - (2) Scientific mobility
(3) Social mobility (4) Physical mobility
T W P Tfoeiierar smyfateer I wwfd T8 8 ?
(1) s Tirefear (2) dsnfere rfereiverdr
(3) wrfTe wfaeiierdn - (@) wifas wfaeierr

53. Which doesn't belong to the group of the other three ?
(1) Operant Conditioning Theory of Learning
(2) Classical Conditioning Theory of Pavlov
(3) Learning Theory of Watson
(4) Guthrie's Theory of Learning
frforRed & | @iF-71 o1 9 & g &1 T8 € 7
(1) R &1 fFamga srgae Rigr

(2) UTgdta HT FADII I RigT
(3) TreET &1 A Rigr
(4) T o1 R Rigr

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(D)
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If Hari is taller than Krishan and Krishan is taller than Gaurav, Hari is the tallest. This
statement comes under which type of reasoning ?

(1) Inductive Reasoning (2) Deductive Reasoning

(3) Linear Reasoning (4) Conditioned Reasoning

afy 8R o1 & o9 @ 3R FWI 1RT I a1 8 @) eR e w1 € T8 U HW IR B
THON & Ifad QT 8

(1) fTHATHS THOM (2) JNTHATHS THON

(3) Rawd qHom (4) ITHfrd TDHIN

Critically judge the following :

Assertion (X) : Pleasure or displeasure resulting from a learning experience decides
the degree of its effectiveness.

Reason (R) : All pleasant experiences have a lasting influence and are remembered
for a long-time while the unpleasant ones are soon forgotten.

(1) Both (X) and (R) are correct and (R) is the correct explanation for (X)

(2) Only (R) is correct. :

(3) Both (X) and (R) are incorrect.

(4) Both (X) and (R) are correct and (R) is not the correct explanation for (X).
fmafaRaa & e SR

afrmed (X) : ARy & o W uRfE waT SR s SEe! ywEgel sofl a3
H B |

BRI (R) : ) G F9al o1 Forzens yora B1er ® ok o 99 d@ RVl fBar §idr §
STafe Irg@Ee SHal & qRa B g f{ar S 2|

(1) (X) @ (R) <1 & & &R (R) (X) & Fel IRAT 8 |

(2) dae (R) F& 1

(3) (X) 3R (R) THI Terd 2|

(4) (X) @ (R) a1 ¥ & 9_eg (R) (X) & |E ARAT &1 2 |

The Rorschach Inkblot-Test consists of :

(1) Five black and five coloured cards.

(2) Ten black and ten white cards.

(3) Five black & white and five multicoloured cards.
(4) Ten multicoloured cards.

T gehecllc TG (S3) | 1 IS & 2

(1) U™ ®Tel T drd FH &1e |

(2) T BT qAT T FHE BTS |

(3) Ui @re-|we gl dreg ggfdy I+ s |

(4) = qgfae TN +1S

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Education)(SET-Z)/(D) P.T.O.
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57.

58.

59.

60.

In the conditioning approach to learning :

(1) The subject should be in readiness to receive the unnatural stimulus.
(2) The unnatural stimulus follows the natural stimulus.

(3) Response to natural stimulus required to be reinforced.

(4) The natural stimulus rollows the unnatural stimulus.

AT & Al JUNTT H

(1) <afe Ry sranfa® 38U« UTal ox= @ fory d9r 8191 ARy |

(2) AT JEIUT TS IEYA BT AT BT € |

(3) wWMIfde IEUA o1 UlAfhar BI GAdford B &I ATaTdhdl @ |

(4) w@MIfde IEIUT SRAMIAS SEIT BT AFTHT BT 2 |

Kohlar developed : _
(1) S-Rbond theory (2) Insight theory
(3) Field theory (4) Conditioning theory
PreeR o fstaa faar
(1) SR ¥s frgra 2) s=aTse Rigr

- (3) wiee Rigrd (4) sl Rigrd
In Pavlov's experiments on the salivary conditioning of dogs, the CS was :
(1) The taste of food (2) Salivation to the taste of food
(3) The sound of a bell (4) Salivation to the sound of bell
qrIetd & FART ¥ HA B AR AR @ HdeT gArT § sRands S @ar § 2
(1) o™ &1 || (2) AN & W@e & ufd TR gg
(3) =UEY @ JATATS (4) 9o DY 3maT B Ul AR FEA
Bruner identified three major stages of cognitive growth. Identify the correct order of

the stages.

(1) Symbolic, Iconic, Enactive

(2) Iconic, Symbolic, Enactive

(3) Enactive, Iconic, Symbolic

(4) Symbolic, Enactive, Iconic

R AT e @ dF Aewyel gt @) ggEm o REfolRed § @ g9 vl @
TE B BT TIT BT |

(1) Teh®TEHS, udaeTe, Tifded (Sfa=il garT ur s &) gl 4 gee oxAn)

(2) SFUTBIHD, b, Yrfded

(3) wHfded, guciiaIH®, UKiihlcad

(4) WciIhTH®, QHfded, JUIPcD,

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(D)
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61. 'Mirambaka'- The school based on ideas of free progress education was advocated

by : _
(1) M.K. Gandhi (2) Aurobindo
(3) Vivekanand (4) John Dewey
faRifgaT waer &1 R B wda e &1 Jen g8 Fae faryrt =« spafRa g 7
(1) HETHAT el (2) sRfe=1
(3) fadem—~< (4) it fefa
62. Who coined the term Cultural capital ?
(1) Bowel and Gintis (2) Bourdieu and passeron
(3) Young (4) McRobbie and Aryon
FoaRd bUcd Ug e Tl DI § ?
(1) dfaea qor e (2) dIgY qAT YRR
(3) I : (4) HHRET qAT JATAA

63. According to Guilford's SI model total number of factors that constitute the human
intellect is :

(1) 60 (2) 90

(3) 120 (4) 150

frepIe @ THo ado Hied @ IR HAMI UST HI TS B dldl BRDI DI dBel F=AT
fora=r B8Rl & 2

(1) 60 : (2) 90

(3) 120 (4) 150

64. The most fundamental characteristic of good adjustment is :
(1) A sincere interest in people
(2) A sound and wholesome system of motives and goals
(3) A high degree of acceptance of ones' environment
(4) A keen insight in to means of attaining one's goals
ST AATAITT &1 Halftd MR AT ©
(1) &t # J=h sfy
(2) TS T Tl B FHETd Ud g YoTTel!
(3) U TATIRYT BT YOI T I WIHR B DI Al
(4) ST et B I wRY @) A B uf e s
M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(D) B0,
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85. Use of Media either sequentially or simultaneously in a single communication is

éalled wovviipins

(1) Computer Assisted Instructions (2) Multimedia- instructions
(3) Technology aided instructions (4) Web aided instructions
Trd FAR A AT B ATIH G T FEDIRID W P AT BEd § 2
(1) F=Yex Fegdrdd e (2) dg-Afezr R

(3) wrenfire FERIET vl e (4) 99 T T f3rer

66. What is guidance ?
[.  Helping a person systematiéally to overcome her difficulties
II. helping an individual to understand herself, her needs, and her environment
III. Helping an individual to score more marks in examination

IV. Giving a mild electric shock and activating the brain of a mentally disturbed
person '

Choose the correct answer from the given code :

(1) Tand II (2) TandIII (3) Illand IV (4) Tand IV

ArteEs /@ g ? .

I fof aafed & O @aRa 7 & A8/ &A1 @) 98 7l FERARAT BT §R DY b |

I ol afda & S 0 @, IS IS Bl N IHP UATERI BT qHM H
BT BRAT |

I1I. fHY oY 31fde i UTe B ¥ WErdl &RAT |
IV. 99R® TegS] arel iad Bl de Aol @ Sed ol 3R SEo ARdss @ Afhy

hHAT |
Ted BT § W& IR D FIT BT ¢
(1) 1 a1l @) I 7 I 3) Il g1 IV @) 1 g IV

67. The methods in which the skill and expertise of many teachers is combined to teach a
class is called as :

(1) Panel discussion (2) Team teaching

(3) Group discussion (4) Tutorial method

N Ay R 987 9 gl @ dree R g B ve Aol B g @ fou U@
|1 et forgr S 8, i e g ? |

(1) UFet ==t 2) & ==t

(3) v T (4) srgfueror =

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Education)(SET-Z)/(D)



69.

70.

71.

RTE was implemented in India with effect from :

(1) 1st April 2009 (2) 1st May 2010
(3) 1st May 2009 (4) 1st April 2010
R sfder sfifad & wRa # & o] fear war ?

(1) 1st 318t 2009 (2) 1st 7 2010
(3) 1st #13 2009 (4) 1st aWie 2010
MMPI is associated with ?

(1) Intelligence (2) Creativity

(3) Personality | ' (4) Mental age
MMPI e e gwfd g ?

1) 3f& (2) eI
(3) wfdie (4) wRD 3y
Mostly Gestaltist theories of learning are based on the idea of ?
(1) concentration (2) Perception
(3) Mediation (4) Introspection
ferpier TReTeearsl ifen™ & Rigrd @

(1) T (2) e

(3) & (4) ocRReTor

Which of the following is correct explanation about a test ?
(1) Reliability is sufficient

(2) Validity is sufficient

(3) Reliability and validity are not essential

(4) Reliability is essential but not sufficient

frefeRed & @ P wheror @) |8 @R 8 ?

(1) faaw-ier wat< &

() faferr=rar uafr 8

(3) farvqeriar iR faftmraar smavas &

(4) favewa-radr aifar & W=y gafa 781 8

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(D)

19

P.T. O,



20

72,

73.

74.

75.

76.

Difficulty level of items in a test is not a matter of concern in case of tests :

(1) Placement test | (2) Intelligence test

(3) Criterion reference test (4) Norm reference test

FrfoRed & a9l 4 #af @1 Hfed wr & & vy 78 & ?

(1) ferarsr oieror ) Iy Tderr

(3) HUGUS HEfHT TR (4) ATTE AT gRIETor

Preparation of test according to test specification/ test blue print mostly enhances :
(1) Reliability (2) Content validity

(3) Concurrent validity | (4) Construct validity

qRIeT @1 faRre /aerr &-fiic & R Wetor @ R |9 ur: AeEfoiad # g
BRI

(1) fawas=iraar ~ (2) Rygawy @1 fAfRmmgar
(3) faemm fafermaar (4) <= faferT=ar

Which test is more likely to reject the null hypothesis™?

(1) Two-tailed test (2) One-tailed test

(3) Both the above (4) None of the above
DIF-H GRIETT ERT I IRGAAT B TR &1 @1 Frad i & 2
(1) g ader (2) TH-gE e

(3) SWIE <l (4) SWRIF H A DIy T

Which of the following is not common to experimental and Ex-post Facto designs of
research ?

(1) Cause and Effect relationship (2) Manipulation of independent variable
(3) Controlling extraneous variables  (4) Observation of dependent variable

TATTH® T HRATR I — 7974 § 9 SIHF-3) 97 9a7g [8l 8 ?

(1) BRU-UHIT T (2) Wad W A Wiwd 959
(3) IEA =T HT FEFm (4) NPT B BT JTABA
Which of the following is not a characteristic feature of research process ?
(1) Empirical approach (2) Systematic Endeavour

(3) Uncontrolled conditions (4) Critical analysis

frafaRad # & S0 a1 f&A e ufar o faRwar ==& & ?

(1) Srg4fde SUrT (2) HHEE gAN

(3) srfafa aRRerforit (4) FATATIATHS ATy

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(D)
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77. Read the following Statements :
Statement I. Correlation coefficient may be negative as well as positive.
Statement II. Reliability of a test can be negative.
Which of the following is correct ?
(1) Statement I is wrong, out II is correct.
(2) Both Statements I anu 11 are correct.
(3) Statement I is correct, but II is wrong.
(4) Both Statements I and II are wrong.
frafaRaa woe @1 afeu
FUF 1. TETEE O EHB [a FONSH QI 8 Fbd € |
B 11 f5e weror # fRreewgar Fonerd & wad 2 |
=t ® | Se-a1 B wel g ?
(1) wor 1 w2 781 feg w11 w8 8
(2) s B I SR 11 WEl &

3) w1 W& & fhg o 11 W& 781 8
(4) = U= 1 iR 11 |8 T8l 8

78. Which of the following is not correctly matched ?

(1) Test-Retest :: Stability (2) Split-Half :: Internal consistency
(3) KR-20 :: Stability (4) Parallel Form :: Equivalence
forer | BT e |8 @ R 7

(1) oR¥etor gadRleror = Rerar (2) @ e : afaRe &ghqql
(3) o 3MRo 20 = Rerar (4) FAMGR YT = FHSI

79. The variance reflecting a systematic difference between groups of measures is termed

as :

(1) Total Variance (2) Error Variance

(3) Experimental Variance (4) Within Groups Variance

T8 TR Y Sifel B e § AR R BT G FT © ..., DEACT B ?
(1) qof sRoT (2) Ffe w=R=o

(3) WANTTHE FERIT (4) o FIE TEROI

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(D) P.T.O.
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80.

81.

82.

83.

The proposition about research that a research would not agree is :

(1) Research improves the quality of teaching.

(2) Research leads to finding solution to too many problems.

(3) Research is only a personnel achievement.

(4) Research contributes to social progress of the society.

et # 1 B-3 g AR ufoefa § o8 ol weHa FE grm ?
(1) e fReror @ qoraen § gfg @var 2

(2) ITHI P TR FT & & A FeID el 2 |

(3) ITHUT A e IUfd 2 |

(4) ST WA BT TG S H ANTETH < ® |

Which of the following schools of philosophy regards education as a means for social
growth and economic production ?

(1) Idealism (2) Realism
(3) Naturalism (4) Marxism

el § w90 foar arT Ren o amifsie Rery &k onfdfe e &1 | q9d
=7

(1) smeeiarg (2) geelarg

(3) wpferars (4) RS

Madhyama Pratipada is a cardinal principle of :

(1) Jainism ' (2) Buddhism

(3) Vedanta Philosophy (4) Sankhya

He |1 ufusT fhaed va ger Rigr 8 ?

(1) o9 g9 (2) drg Te=

(3) dgid e (4) ey e

Life skill education is needed to :

(1) Adopt to one's own culture (2) Enhance vocational efficiency
(3) Promote cultural integration (4) Face the challenges in life effectively

SIae BT BT TRl fhags fow g ?
(1) 3T ARPpfA B JdHeA

2) TERE R &FHAT qETI
(3) WIHfA® THAT BT qGTAT AT
(4) WG9 & FAIAT BT YHTIRll w9 H FHAT BHAT

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(D)
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84. In the framework of Sankhya stipulation, which of the following will not be considered
acceptable ?

(1) Prakriti is trigunatmak (2) Prakriti is subtle
(3) Prakriti is directly visible (4) Prakriti is by nature evolutionary
ey &3 @ gRber ¥ § 5 Wert 7 A1 57 Hahar ?
(1) wofa fForesrs & (2) vPfa geq
(3) UPfA Uher w9 W IR ® (4) vpla @E A e es &

85. Which Indian school of thought considers all knowledge as relative ?
(1) Buddhism (2) Vedant (3) Jainism (4) Islam
freafalas & @ -0 IRAT 9o A AR arT w9 $19 37 aner 9 @ ?
(1) d1g (2) =i (3) s+ 4) =™

86. Critically judge the following :
Assertion (A) : Marx advocated the creation of a classless society.
Reason (R) : There are too many classes which are struggling with each other.
(1) Both (A) and (R) are false (2) Both (A) and (R) are true
(3) Only (A)is true (4) Only (R} is true
fF=feRad SR a1l &1 ATAETTAS qoTHT DI -
HHBIT (A) : AR 51 U AT AT B G T DY qhlerd B |
SR (R) : 980 A O & Sff 0 # wod dd W& 2|
(1) THI(A) @I (R) 3/TT & (2) ST (A) TT (R) 9 &
(3) DI (A) I & (4) ®ge (R) 9T B

87. Which statement/s is/are true as per Buddhist philosophy ?
. Maya is root cause of all troubles.
II. Sorrow is the root cause of all troubles.
III. Birth and death are causes of troubles.
IV. Getting involved in worldly pursuits is the cause of all troubles.
(1) AllL, II, IIT and IV are true (2) OnlyIand II are true
(3) Only II and III are true (4) OnlyIl IIT and 1V are true
g TUF B ATAR BIA-AT HAT FET 8 ?
L o) ol &) Sie 717 @
I 0 SRl & o §9 ®
. 999 3R 97 G99 & BRI §
IV. ¥ ARl &1 SR Aiaie Reph | fora & &
(1) = LIL I @1 IV 9 & (2) daa [ dn I 97 &
(3) waer I o 11l 97 & (4) dad I, 111 T IV 9T 8

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(D) ; P.T.O.
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88. Match the following :

List - I

(Thinker)
. Gandhi
II. Tagore

[II. Aurbindo
IV. Vivekananda

Code:
S O S Y
1H 5 1 2 4
@ 5 1 4 2
@ 3 4 2 5
4 4 2 3 5
fer=iferRae @1 e IRTT
-1
(Fercran)
I TR
II. SR
M. sRfe=<=
V. fagsre=<
dS :
I I 1 IV
M 5 1 2 4
@ 5 1 4 2
@ 3 4 2 5
4 4 2 3 5

U

SUEE O

List - II

(Type of Education)
Shantiniketan

Integral Yoga

Gurukul

Man making education

Wardha Scheme

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Education)(SET-Z)/(D)
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89. The aim of basic education, as per the dream of Gandhiji is to :

90.

[ Create a classless society
II. Create a Sarvodaya Society
II. Create a society respecting all religions

IV. Create a society where a rich and poor can live together

(1) AIlL II, III and IV are correct

(2) Statements I, II and 111 are correct

(3) Statements II, IIT and IV are correct

(4) Statements I, IT and IV are correct

T S @ A & SgaR T e @7 $qed ©
I U& qEes ot &1 fmfor

II. Y& \aRyd A & i

ML &1 98] BT AR HRA a1l FATST T {=Afor

IV. 3o U |a &1 At 8! epiR &k 9 Aoy 8 A
(1) Y ®er= [ 11, 111 dorr IV a8 &

(2) ®aa dAF [ 11 gor 11 |8 &

(3) Bad HUF 11, [II T IV W& &

(4) Taa woF [ 11 Tor IV |8 &

'Individual Differences' are given the least importance in :

(1) Idealism (2) Realism
(3) Naturalism (4) Pragmatism
e faaRare A wfdana ¥l @ B8 98<g F8) fear S ?
(1) srregrarg (2) Turfare
(3) vgfrare (4) wgEREaER

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(D)
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91

92.

93.

94.

The nature of cross-sectional study is :

(1) Experimental (2) Developmental
(3) Case study (4) Descriptive
TP BTG T B TP adr el 8 7

(1) s ; ) famres

(3) 3 feuIA . (4) gofHTeas

Ethnomethodological studiies are of the type::
(1) Philosophical research

 (2) Historical research

(3) Experimental research

(4) Sociological research

SR RTEe Tead b UBR & IRIIT B & 7
(1) swife 2

(2) Yol

(3) WARTEHE S

(4) TSSO

A research paper is a brief report of research work based on :

(1) Primary Data only

(2) Secondary Data only

(3) Both Primary and Secondary Data

(4) Just explanation of something

T T A0 Rl oy @) i Rad @i ¥ 1 a8 v e i g |
(1) wafAe & )

) de e w

(3) wafes vd fgde & )

(4) Bact =T @) B ©

According to Hull, which one of the following will be called a dependent variable ?

(1) Habit strength (2) Drive

(3) Resistance to Extinction (4) Excitatory reaction potential
T @ AR rEfeRed § 9 5 anfda @R wer wmam ?

(1) ared ad ' (2) sicHis

(3) faeig & wfa uraR™ (4) oS gfafsar faag

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(D)
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95.

96.

97,

27
A person wants to know whether he will perform well in a particular job. Which of
the following tools will predict this ?
(1) Attitude test  (2) Aptitude test (3) Intelligence test (4) Interest test
U afdd a8 ST amear @ fF @ a1 e afdre oM A srewt gedE ex w@e 2
5% oY o ga=or &1 3T fasan i @nfeg ?
(1) «ffgRy weor  (2) srffraar gerr(3) gy e (4) <fer wegor
Who advanced the concept of 'creative self' as the most essential aspect of one's
personality ?
(1) Allport (2) Adler (3) Freud (4) Jung
Ffde & Faifs awas Ugd @ WU § GoreTs S Bl SaURCT B e gea
fbar e ?
(1) 3memre (2) TER (3) WIS (4) ST

Educational guidance to the students may be provided through :
(I) Organizing interactive sessions
(II) Engaging students in co-curricular activities in a meaningful way
(IIT) Promoting sensitivity to others
(IV) Aquenting students with available vocational opportunities
(V) Introducing students to group life situations
Select the correct code :
(1) (1), D), (IV), (V)
(2) (V), (1), (IL,) (V)
(3) (), (ID), (V), ()
4) (V), @v), (@), (1)
Wﬁﬁmﬁ@aﬁﬁﬁmﬁwﬁﬁmﬁwwﬁmww%?
(I) 3icrfbar Wi &1 AR Fwd
(I) wrei® urgy FeH fibam & ofimex
()3 & Ui Fag=eierdl & ggral qax
(IV) U] ATTATAS AR | ST PRIDY
(V) I9Es Siaq @ aRRefal @ aRey e
el DTS & FIT BT
) (D, (D), @V), (V)
(2) (V), (I, (IL) (IV)
(3) (), (1), (V), (1)
@ (V), @), (1), ()

M.Phil./Ph.D./URS-EE-Nov.-2018/(Education)(SET-Z)/(D) P. T.0).
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98. As compared to questionnaire, the use of interview as a research tool has advantage
owing to:

(1) its accessibility to persbnal and sensitive nature of information

(2) its sources of error

(3) its low reliability

(4) the requirement for training of interviewer

TR B el H W Udh Y SUeR & w9 @] Afeie Sudrh § 7
(1) wwmwﬁaﬂﬁ@ﬁémﬁammaﬁmmﬁ%

2) s F & AT 8

(3) @ fzawd o9 & w2 |

(4) AETPR BT GRFRNETT P sraegear Bl ©

99. What is the biggest hurdle in achieving the universalisation of elementary education
in India ?

(1) Scarcity of resources

(2) Improper planning

(3) Mindset of the people -

(4) Population explosion

TRa F T B ot uRRYe R BT oeg ur R Wed g1 al /1§ 7
(1) ! @1 HH)

(2) srHfa IS

(3) @it & TRy

(4) SaE e

100. Summative evaluation implies :
(1) Use of daily quizzes
(2) Monitoring of learning through homework
(3) Terminal tests
(4) Weekly grading of students
ANTTAS Fedids ¥ a1 qeag 8 2
(1) 2fve oAl &1 wam
(2) EHTE ERT SfEFTH BT AT
(3) mafere TRIEToT
(4) BET BT ATCRd TR IRIETT
M.Phil./Ph.D./JURS-EE-Nov.-2018/(Education)(SET-Z)/(D)
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